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E4<< =4 >E=>65 F<DD>6OE 

F5E=>?>7<=, 6 >5N5<5 4>EF4-

F>G=>< 4?O D5L5=<O ?D>D5E-

E<>=4?L=OE 7444G 

��>E-4.1  �=45F <5-

F>4<>< ??4=<D>64-

=<O D5EGDE=>7> >55E-

?5G5=<O 45OF5?L=>-

EF< ?D54?D<OF<O; <=-

EFDG<5=FO < <5E4-

=<7<O G?D46?5=<O 

5<7=5E-?D>F5EE4<< 

=4 >E=>65 F<DD>6OE 

F5E=>?>7<= 

<5F>4O < >E=>6=O5 F5>-

D<< ??4=<D>64=<O 4?O 

>55E?5G5=<O 5<7=5E-?D>-
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?D54?D<OF<O < ?D<-

<5=OFL =4 ?D4>F<>5 
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?5=<5 5<7=5E-?D>-

F5EE4<< =4 >E=>65 

F<DD>6OE F5E=>?>-

7<= 
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<4?L=O= ??4= D5EGDE-

=>7> >55E?5G5=<O 45O-

F5?L=>EF< ?D54?D<OF<= 

E ?><>MLN Excel, MS 

>EGM5EF6?OFL <>=<F>-

D<=7 < >F5=>G >4G5EF64; 

?D>6>4<FL 4=4?<7 >>=>G-

D5=F=>= ED5DO >FD4E?<. 
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����&�&�/ 

�2.�.01.01(�) �D><76>4EF65==4O ?D4>F<>4  

�4GG=>-<EE?54>64F5?LE>4O D45>F4 

4?O ?>47>F>6>< 54>4?46D4 ?> =4?D46?5=<N 38.03.01 ->>=><<>4,  

=4?D46?5==>EFL «->>=><<>4 ?D54?D<OF<= < >D74=<74F<=» 
 

�GDE 3; E5<5EFD 6 

$>D<4 ?D>6545=<O ?D4>F<><: =5?D5DO6=4O (>>=F5=FD<D>64==4O), <=4<6<4G-

4?L=4O. 

%?>E>5 ?D>6545=<O: EF4F<>=4D=4O, 6O574=4O. 

&5?L ?D4>F<><: O6?O5FEO 74>D5??5=<5 F5>D5F<G5E><E 7=4=<=, ?>?GG5==OE 6 

?D>F5EE5 >5GG5=<O, ?D<>5D5F5=<5 ?D4>F<G5E><E =46O>>6 < D>D<<D>64=<5 ?D>-

D5EE<>=4?L=OE >><?5F5=F<= =4 >?5D4F<6=>< < F4>F<G5E>>< GD>6=5, D476<F<O 

7=4=<=, G<5=<=, =46O>>6 E4<>EF>OF5?L=>= =4GG=>-<EE?54>64F5?LE>>= 45OF5?L-

=>EF<, D>D<<D>64=<5 G<5=<= ?D<=<<4FL E4<>EF>OF5?L=O5 D5L5=<O =4 >>=>D5F-

=OE GG4EF>4E D45>FO 6 ?D><76>4EF65==OE GE?>6<OE. 

�444G< ?D4>F<><:  <E?>?L7>64FL M>>=><<G5E><5 7=4=<O ?D< ?D>6545=<< <EE?5-

4>64=<O;  ?>EFD>5=<5 EF4=44DF=OE F5>D5F<G5E><E < M>>=><5FD<G5E><E <>45?5= 

<EE?54G5<OE ?D>F5EE>6, O6?5=<= < >5N5>F>6, >F=>EOM<EEO > >5?4EF< ?D>D5EE<-

>=4?L=>= 45OF5?L=>EF<;  D476<F<5 =46O>>6 4=4?<74 < <=F5D?D5F4F<< 44==OE >F5-

G5EF65==>= < 74DG556=>= EF4F<EF<>< > E>F<4?L=>-M>>=><<G5E><E ?D>F5EE4E < 

O6?5=<OE, 6OO6?5=<O F5=45=F<= <7<5=5=<O E>F<4?L=>-M>>=><<G5E><E ?>>474F5-

?5=;  D476<F<5 =46O>>6 4=4?<74 < <=F5D?D5F4F<< D<=4=E>6>=, 5GE74?F5DE>>= < 

<=>= <=D>D<4F<<, E>45D64M5=EO 6 >FG5F=>EF< ?D54?D<OF<= D47?<G=OE D>D< 

E>5EF65==>EF<, >D74=<74F<=, 654><EF6; >EGM5EF6?5=<5 E5>D4, >?4EE<D<>4F<< < 

?5D6<G=>= >5D45>F>< <=D>D<4F<< 6 E>>F65FEF6<< E ?>EF46?5==>= F5?LN, <E-

?>?L7GO >F5G5EF65==O5 < 74DG556=O5 <EF>G=<><; <E?>?L7>64FL 4?O D5L5=<O 4=4-

?<F<G5E><E < <EE?54>64F5?LE><E 7444G E>6D5<5==OE F5E=<G5E><E ED54EF6 < <=-

D>D<4F<>==OE F5E=>?>7<=. 

&D55>64=<O > D57G?LF4F4< >E6>5=<O ?D4>F<><:   6 D57G?LF4F5 >E6>5=<O ?D4>-

F<>< D>D<<DGNFEO E?54GNM<5 >><?5F5=F<< (<=4<>4F>DO) : '�-1.1; '�-1.2; '�-

1.3; '�-2.1; '�-2.2; '�-2.3; '�-4.1; '�-4.2; '�-4.3; '�-6.1; '�-6.2; '�-6.3; ��>E-1.1; ��>E-

1.2; ��>E-1.3; ��>E-2.1; ��>E-2.2; ��>E-2.3; ��>E-3.1; ��>E-3.2; ��>E-3.3; ��>E-4.1; ��>E-

4.2; ��>E-4.3. 

�D4F>>5 E>45D64=<5 ?D4>F<><: ?D><76>4EF65==4O ?D4>F<>4 =4GG=>-<EE?54>64-

F5?LE>4O D45>F4 ?D54GE<4FD<645F E?54GNM<5 MF4?O:  

?>47>F>6<F5?L=O= MF4? 6>?NG45F ?D<5OF<5 6 >D74=<74F<N, 7=4>><EF6> E 

44<<=<EFD4F<5= < DG>>6>4<F5?5< ?D4>F<>< >F >D74=<74F<<, <=EFDG>F46 ?> 6>-

?D>E4< >ED4=O FDG44 < ?>64D=>= 557>?4E=>EF<, E>EF46?5=<5 <=4<6<4G4?L=>7> 

7444=<O;  

>E=>6=>= MF4? 6>?NG45F (E>EF46?5=<5 >FG5F4) : >EGM5EF6?5=<5 ?><E>4 < 
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E5>D4 M>>=><<G5E>>= <=D>D<4F<<. %5>D >F5G5EF65==OE < 74DG556=OE <EF>G=<-

>>6 <=D>D<4F<< =5>5E>4<<OE 4?O 4=4?<74 < ?D>6545=<O <EE?54>64=<O. �EE?5-

4>64=<5 >E>55==>EF5= ?D>F5>4=<O M>>=><<G5E><E ?D>F5EE>6. �=4?<7 ?D><76>4-

EF65==>=, D<=4=E>6>=, 5GE74?F5DE>>= < <=>= <=D>D<4F<<, E>45D64M5=EO 6 >F-

G5F=>EF< >5N5>F4 <EE?54>64=<O �=4?<7 EF4F<EF<G5E>>= <=D>D<4F<<, E>45D64-

M5=EO 6 >F5G5EF65==OE </<?< 74DG556=OE <EF>G=<>4E 6 E>>F65FEF6<< E >E>55=-

=>EFO<< >5N5>F4 <EE?54>64=<O �O5>D < <E?>?L7>64=<5 4?O D5L5=<O 4=4?<F<G5-

E><E < <EE?54>64F5?LE><E 7444G E>6D5<5==OE F5E=<G5E><E ED54EF6 < <=D>D<4-

F<>==OE F5E=>?>7<= E5>D, >5D45>F>4 < E<EF5<4F<74F<O D4>F<G5E>>7> <=D>D<4-

F<>==>7>, 4=4?<F<G5E>>7>, 5GE74?F5DE>>7> < M>>=><<G5E>>7> <4F5D<4?4 E>-

7?4E=> 7444=<N, D4EG5F =5>5E>4<<OE ?>>474F5?5= < 74?>?=5=<5 E>>F65FEF6GN-

M<E D4745?>6 >FG5F4; 

74>?NG<F5?L=O= MF4? 3 D>D<<D>64=<5 >FG5F4 < 74M<F4 >FG5F4. 

�5EF> ?D>6545=<O: ?D54?D<OF<O < >D74=<74F<<, >F=>EOM<5EO > ��� $>EE<<. 

�5M4O FDG4>5<>>EFL ?D4>F<>< E>EF46?O5F 5 74G. 54. (180 G4E>6). 
�D><56GF>G=O= >>=FD>?L ?> ?D4>F<>5:  74G5F E >F5=>>=. 

1. &5?L ?D4>F<>< 

&5?L ?D>E>645=<O ?D><76>4EF65==>= ?D4>F<>< =4GG=>-<EE?54>64F5?LE>>= 

D45>FO 3 >6?445=<5 74>D5??5=<5  F5>D5F<G5E><E 7=4=<=, ?>?GG5==OE 6 ?D>F5EE5 

>5GG5=<O, ?D<>5D5F5=<5 ?D4>F<G5E><E =46O>>6 < D>D<<D>64=<5 ?D>D5EE<>=4?L-

=OE >><?5F5=F<= =4 >?5D4F<6=>< < F4>F<G5E>>< GD>6=5, D476<F<O 7=4=<=, G<5-

=<=, =46O>>6 E4<>EF>OF5?L=>= =4GG=>-<EE?54>64F5?LE>>= 45OF5?L=>EF<, D>D<<-

D>64=<5 G<5=<= ?D<=<<4FL E4<>EF>OF5?L=O5 D5L5=<O =4 >>=>D5F=OE GG4EF>4E 

D45>FO 6 ?D><76>4EF65==OE GE?>6<OE. 

 

 

2. �444G< ?D4>F<>< 

�O?GE>=<> ?> =4?D46?5=<N ?>47>F>6>< 38.03.01 ->>=><<>4 6 E>>F65F-

EF6<< E 6<44<< ?D>D5EE<>=4?L=>= 45OF5?L=>EF<, =4 >>F>DO5 >D<5=F<D>64=4 ?D>-

7D4<<4 54>4?46D<4F4, 7>F>6 D5L4FL E?54GNM<5 ?D>D5EE<>=4?L=O5 7444G<: 

1) <E?>?L7>64=<5 M>>=><<G5E><E < ?D46>6OE 7=4=<= ?D< ?D>6545=<< <EE?54>64-

=<O;  

2) ?>EFD>5=<5 EF4=44DF=OE F5>D5F<G5E><E < M>>=><5FD<G5E><E <>45?5= <EE?5-

4G5<OE ?D>F5EE>6, O6?5=<= < >5N5>F>6, >F=>EOM<EEO > >5?4EF< ?D>D5EE<>=4?L-

=>= 45OF5?L=>EF<; 

 3) D476<F<5 =46O>>6 4=4?<74 < <=F5D?D5F4F<< 44==OE >F5G5EF65==>= < 74DG556-

=>= EF4F<EF<>< > E>F<4?L=>-M>>=><<G5E><E ?D>F5EE4E < O6?5=<OE, 6OO6?5=<O 

F5=45=F<= <7<5=5=<O E>F<4?L=>-M>>=><<G5E><E ?>>474F5?5=;  

4) D476<F<5 =46O>>6 4=4?<74 < <=F5D?D5F4F<< D<=4=E>6>=, 5GE74?F5DE>>= < <=>= 

<=D>D<4F<<, E>45D64M5=EO 6 >FG5F=>EF< ?D54?D<OF<= D47?<G=OE D>D< E>5-

EF65==>EF<, >D74=<74F<=, 654><EF6;  
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5) >EGM5EF6?5=<5 E5>D4, >?4EE<D<>4F<< < ?5D6<G=>= >5D45>F>< <=D>D<4F<< 6 

E>>F65FEF6<< E ?>EF46?5==>= F5?LN, <E?>?L7GO >F5G5EF65==O5 < 74DG556=O5 <E-

F>G=<><; 

 6) <E?>?L7>64=<5 4?O D5L5=<O 4=4?<F<G5E><E < <EE?54>64F5?LE><E 7444G E>6D5-

<5==OE F5E=<G5E><E ED54EF6 < <=D>D<4F<>==OE F5E=>?>7<= 

3. �><?5F5=F<< >5GG4NM<EEO, D>D<<DG5<O5 6 D57G?LF4F5 ?D>E>645=<O 

?D4>F<>< 

�D>E>645=<5 ?D544<??><=>= ?D4>F<>< =4?D46?5=> =4 D>D<<D>64=<5 G 

>5GG4NM<EEO G=<65DE4?L=OE ('�), < ?D>D5EE<>=4?L=OE (��>E) >><?5F5=F<=, 

?D54EF46?5==OE 6 F45?<F5 1. 

4. �5EF> ?D4>F<>< 6 EFDG>FGD5 ���� 54>4?46D<4F4 

�?O ?D>E>645=<O ?D><76>4EF65==>= ?D4>F<>< �4GG=>-<EE?54>64F5?LE>>= 

D45>FO =5>5E>4<<O 7=4=<O, G<5=<O < =46O><, D>D<<DG5<O5 ?D54L5EF6GNM<<< 

4<EF<??<=4<< 6 ?D>F5EE5 >5GG5=<O =4 ?D54O4GM<E >GDE4E.  

1 >GDE: �D46>, �4>D>M>>=><<>4, �<>D>M>>=><<>4, �4F5<4F<G5E><= 4=4-

?<7, �=>EFD4==O= O7O>, &5E=>?>7<O ?D><76>4EF64, ?5D5D45>F>< < ED4=5=<O ?D>-

4G>F<< 6<6>F=>6>4EF64, &5E=>?>7<O ?D><76>4EF64, ?5D5D45>F>< < ED4=5=<O ?D>-

4G>F<< D4EF5=<56>4EF64, �7=4>><<F5?L=4O ?D4>F<>4. 

2 >GDE: �4F5<4F<G5E>4O EF4F<EF<>4, &5>D<O 5GE74?F5DE>>7> GG5F4, ->>=>-

<<G5E><= 4=4?<7, �5=546<5=F, &4=< <5=546<5=F, �=D>D<4F<>==O5 F5E=>?>-

7<< 6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<. 

3 >GDE: %F4F<EF<>4, �4D>5F<=7, $<=4=EO, �><??5>E=O= M>>=><<G5E><= 

4=4?<7 D<=4=E>6>-E>7O=EF65==>= 45OF5?L=>EF< >D74=<74F<= ���, �D74=<74F<O 

E5?LE>>E>7O=EF65==>7> ?D><76>4EF64, �E=>6O F<DD>6>= M>>=><<><, ->>=><<>4 

?D54?D<OF<O (>D74=<74F<<) ���, &<DD>6O5 F5E=>?>7<< 6 47D4D=>= M>>=><<>5, 

�FD4E?56O5 DO=><, �D><76>4EF65==4O ?D4>F<>4 =4GG=>-<EE?54>64F5?LE>4O D4-

5>F4 O6?O5FEO >E=>6>?>?474NM5= 4?O <7GG5=<O E?54GNM<E 4<EF<??<= (?D4>-

F<>):  

4 >GDE: �F5=>4 EF><<>EF< 5<7=5E4, '?D46?5=<5 ?D>5>F4<<, ->>=><<G5E>4O 

>F5=>4 <=65EF<F<=, , �>45?<D>64=<5 5<7=5E-?D>F5EE>6, ->>=><<>4 <4?>7> 5<7-

=5E4, ->>=><<>4 D<E>>6, �?4=<D>64=<5 6 >D74=<74F<OE ���, ->>=><<>4 D476<-

F<O E5?LE><E F5DD<F>D<=, ->>=><<>4 7>EG44DEF65==>= < <G=<F<?4?L=>= E>5-

EF65==>EF<, ->>=><<>4 <4?>7> 5<7=5E4.�D544<??><=4O ?D4>F<>4 4?O =4?<E4=<O 

6O?GE>=>= >64?<D<>4F<>==>= D45>FO. 

�D><76>4EF65==4O ?D4>F<>4 =4GG=>-<EE?54>64F5?LE>4O D45>F4 6E>4<F 6 E>-

EF46 >E=>6=>= ?D>D5EE<>=4?L=>= >5D47>64F5?L=>= ?D>7D4<<O 6OEL57> >5D47>-

64=<O < GG55=>7> ??4=4 ?>47>F>6>< ?> =4?D46?5=<N 38.03.01 ->>=><<>4, 

=4?D46?5==>EFL «->>=><<>4 ?D54?D<OF<= < >D74=<74F<=». 

$>D<4 ?D>6545=<O 3 =5?D5DO6=4O (>>=F5=FD<D>64==4O), <=4<6<4G4?L=4O. 
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6 G4E4E 180 180 

�>=F4>F=4O D45>F4, G4E. 1,67 1,67 

%4<>EF>OF5?L=4O D45>F4 ?D4>F<>4=F4, G4E. 178,33 178,33 

$>D<4 ?D><56GF>G=>= 4FF5EF4F<<  74G5F E >F5=>>= 
 

&45?<F4 3 

%FDG>FGD4 ?D><76>4EF65==>= ?D4>F<>< �4GG=>-<EE?54>64F5?LE>>= D45>FO 

 

7  

?/?  

%>45D64=<5 MF4?>6  

?D4>F<>< 

$>D<<DG5<O5 

>><?5F5=F<< 

1 

�>47>F>6<F5?L=O= MF4? 

1. �=EFDG>F46 ?> 6>?D>E4< >ED4=O FDG44, ?>64D=>= 557>?4E=>-

EF<; 

2. �=EFDG>F46 ?> >5M<< 6>?D>E4< >D74=<74F<< ?D4>F<>< 6 >D74-

=<74F<<; 

3. %>7?4E>64=<5 D45>G57> 7D4D<>4 (??4=4) ?D4>F<><; 

4. �4?>?=5=<5 4=56=<>4 ?D4>F<>< < E>EF46?5=<5 <=4<6<4G4?L-

=>7> 7444=<O.  

'�-1.1; '�-1.2; 

'�-1.3; '�-2.1; 

'�-2.2; '�-2.3; 

'�-4.1; '�-4.2; 

'�-4.3; '�-6.1; 

'�-6.2; '�-6.3; 

��>E-1.1; ��>E-

1.2; ��>E-1.3; 

��>E-2.1; ��>E-

2.2; ��>E-2.3; 

��>E-3.1; ��>E-

3.2; ��>E-3.3; 

��>E-4.1; ��>E-

4.2; ��>E-4.3 

2 

�E=>6=>= MF4? 
%>EF46?5=<5 >FG5F4 ?> F5<5 =4GG=>7> <EE?54>64=<O: 

1. �EGM5EF6?5=<5 ?><E>4 < E5>D4 M>>=><<G5E>>= < =>D<4F<6=>-

?D46>6>= <=D>D<4F<<  

2. %5>D >F5G5EF65==OE < 74DG556=OE <EF>G=<>>6 <=D>D<4-

F<< =5>5E>4<<OE 4?O 4=4?<74 < ?D>6545=<O <EE?54>64=<O 

3. �EE?54>64=<5 >E>55==>EF5= ?D>F5>4=<O M>>=><<G5E><E ?D>-

F5EE>6  

4. �=4?<7 ?D><76>4EF65==>=, D<=4=E>6>=, 5GE74?F5DE>>= < <=>= 

<=D>D<4F<<, E>45D64M5=EO 6 >FG5F=>EF< >5N5>F4 <EE?54>64=<O 

 5. �=4?<7 EF4F<EF<G5E>>= <=D>D<4F<<, E>45D64M5=EO 6 >F5G5-

EF65==OE </<?< 74DG556=OE <EF>G=<>4E 6 E>>F65FEF6<< E >E>55=-

=>EFO<< >5N5>F4 <EE?54>64=<O  

6. �O5>D < <E?>?L7>64=<5 4?O D5L5=<O 4=4?<F<G5E><E < <EE?54>-

64F5?LE><E 7444G E>6D5<5==OE F5E=<G5E><E ED54EF6 < <=D>D<4-

F<>==OE F5E=>?>7<= 

7.�545=<5 4=56=<>4 ?D4>F<><; 

8. %>EF46?5=<5 D4745?>6 >FG5F4 ?> MF4?4< 7444=<O. 
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3 

�4>?NG<F5?L=O= MF4?  

1. �>47>F>6>4 >FG5F4; 

2. �4?>?=5=<5 4=56=<>4; 

3. �>?GG5=<5 >F7O64 DG>>6>4<F5?O >F >D74=<74F<<. 

 

'�-1.1; '�-1.2; 

'�-1.3; '�-2.1; 

'�-2.2; '�-2.3; 

'�-4.1; '�-4.2; 

'�-4.3; '�-6.1; 

'�-6.2; '�-6.3; 

��>E-1.1; ��>E-

1.2; ��>E-1.3; 

��>E-2.1; ��>E-

2.2; ��>E-2.3; 

��>E-3.1; ��>E-

3.2; ��>E-3.3; 

��>E-4.1; ��>E-

4.2; ��>E-4.3 

 

 

 

%>45D64=<5 ?D4>F<><  
 

%5<5EFD 6: 

�E=>6=4O 7444G4 3 >6?445FL ?D4>F<G5E><<< =46O>4<< D45>FO 6  M>>=><<G5-

E><E, D<=4=E>6OE, ?D><76>4EF65==>-M>>=><<G5E><E < 4=4?<F<G5E><E E?G654E >D-

74=<74F<= D47?<G=OE >FD4E?5=, ED5D < D>D< E>5EF65==>EF<.  �>?GG<FL ?D54EF46-

?5=<5 > ?>EFD>5=<< EF4=44DF=OE F5>D5F<G5E><E < M>>=><5FD<G5E><E <>45?5=, 

4=4?<75 < <=F5D?D5F4F<< ?>?GG5==OE D57G?LF4F>6; GG4FEO 4=4?<7<D>64FL < <=F5D-

?D5F<D>64FL D<=4=E>6GN, 5GE74?F5DE>GN < <=GN <=D>D<4F<N, E>45D64MGNEO 6 

>FG5F=>EF< ?D54?D<OF<= D47?<G=OE D>D< E>5EF65==>EF<, >D74=<74F<=, 654><EF6 

< F.4. < <E?>?L7>64FL ?>?GG5==O5 E6545=<O 4?O ?D<=OF<O G?D46?5=G5E><E D5L5-

=<=; 6OD454FO64NF =46O>< ?>47>F>6>< 4=4?<F<G5E>>7> >FG5F4, <E?>?L7GO >F5G5-

EF65==O5 < 74DG556=O5 <EF>G=<>< <=D>D<4F<<; GG4FEO <E?>?L7>64FL 4?O D5L5=<O 

4=4?<F<G5E><E < <EE?54>64F5?LE><E 7444G E>6D5<5==O5 F5E=<G5E><5 ED54EF64 < 

<=D>D<4F<>==O5 F5E=>?>7<<.  

 %FG45=F 6O5<D45F DG=>F<>=4?L=GN E?G65G ?> E>5EF65==><G 65?4N, <EE>4O 

<7 >E>55==>EF5= >D74=<74F<< (?D54?D<OF<O), 6>7<>6=>EFL ?D54>EF46?5=<O D45>-

G57> <5EF4 4?O ?D4>F<>4=F4 < ?> E>7?4E>64=<N E DG>>6>4<F5?5< ?D4>F<><. 

�>=F4>F=4O D45>F4 6 >5N5<5 2 G4E>6 (F45?<F4 72) ?D< ?D>6545=<< ?D><76>4-

EF65==>= ?D4>F<>< ?D54GE<4FD<645F E?54GNM<5 6<4O D45>F DG>>6>4<F5?O ?D4>-

F<>< >F >D74=<74F<< E ?D4>F<>4=F4<<:  

- <=EFDG>F46 ?> 6>?D>E4< >ED4=O FDG44, ?>64D=>= 557>?4E=>EF<; 

- <=EFDG>F46 ?> >5M<< 6>?D>E4< >D74=<74F<< ?D4>F<>< 6 >D74=<74F<< (=4 

?D><76>4EF65);  

- E>7?4E>64=<5 D45>G57> 7D4D<>4 (??4=4) ?D4>F<><;  

- ?D54>EF46?5=<5 D45>G<E <5EF ?D4>F<>4=F4<;  

- F5>GM4O >>=EG?LF4F<O < >>=FD>?L 74 6O?>?=5=<5< <=4<6<4G4?L=OE 7444=<= 

6 E>>F65FEF6<< E D45>G<< 7D4D<>>< (??4=><) ?D4>F<>< < ?D>65D>4 4=56=<>>6;  

- ?>47>F>6>4 E4D4>F5D<EF<>< ?D4>F<>4=FG. 
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1 MF4? �>47>F>6<F5?L=O= MF4?  

�5=L 1-2 

%FG45=FO ?D>E>4OF <=EFDG>F46 ?> 6>?D>E4< >ED4=O FDG44, ?>64D=>= 557-

>?4E=>EF<; <=EFDG>F46 ?> >5M<< 6>?D>E4< >D74=<74F<< ?D4>F<>< 6 >D74=<74F<<; 

7=4>><OFEO E> EFDG>FGD>= >D74=<74F<<; >?D545?ONFEO E D45>G<< <5EF><; GF>G-

=ONF D45>G<= 7D4D<> (??4=) E DG>>6>4<F5?5< ?D4>F<>< >F >D74=<74F<<, 74?>?-

=ONF E>>F65FEF6GNM<5 ?G=>FO 4=56=<>4 ?D4>F<>< < <=4<6<4G4?L=>7> 7444=<O. 

$>D<O F5>GM57> >>=FD>?O 3 4=56=<> ?D><76>4EF65==>= ?D4>F<>< < <=4<6<-

4G4?L=>5 7444=<5. 

 

2 MF4? �E=>6=>= MF4?  

�5=L 3-15 

$45>F4 6 ?D>D<?L=>= >D74=<74F<<; E5>D, 4=4?<7 <=D>D<4F<<, <E?>?L7GO >F5G5-

EF65==O5 < 74DG556=O5 <EF>G=<>< <=D>D<4F<<; <7GG5=<5 >D74=<74F<>==>-?D4-

6>6OE D>D< ?D54?D<OF<= (GGD5645=<=), GEF46=OE 4>>G<5=F>6 ?D54?D<OF<O 

(GGD5645=<O), 4=4?<7 < >F5=>4 E?5F<4?<74F<< ?D54?D<OF<O (>E=>6=O5 6<4O 45O-

F5?L=>EF< GGD5645=<O), D47<5D EFDG>FGD4 75<5?L=>= ??>M44<, ?>E56=OE ??>M4-

45= < ?4L=<, D47<5D, =4?<G<5 < E>EF46 ED54EF6 ?D><76>4EF64, GD>65=L F5E=<G5-

E>>7> < F5E=>?>7<G5E>>7> >E=4M5=<O, <7GG5=<5 >D74=<74F<>==>= EFDG>FGDO ?D54-

?D<OF<O (GGD5645=<O), <7GG5=<5 G?D46?5=G5E>>= EFDG>FGDO ?D54?D<OF<O (GGD5-

645=<O), 4=4?<7 < >F5=>4 >44D>6>7> E>EF464 ?D54?D<OF<O (GGD5645=<O), 4=4?<7 < 

>F5=>4 <E?>?L7>64=<O D<=4=E>6OE D5EGDE>6 ?D54?D<OF<O (GGD5645=<O), <7GG5=<5 

>FG5F=>EF< ?D54?D<OF<O (GGD5645=<O), 4=4?<7 < >F5=>4 D57G?LF4F>6 < ?>>474F5?5= 

MDD5>F<6=>EF< ?D><76>4EF65==>-D<=4=E>6>= 45OF5?L=>EF< ?D54?D<OF<O (GGD5-

645=<O), <7GG5=<5 ?D>F5EE4 ??4=<D>64=<O < ?D>7=>7<D>64=<O D<=4=E>6>-E>7O=-

EF65==>= 45OF5?L=>EF< ?D54?D<OF<O (GGD5645=<O), <7GG5=<5 <E?>?L7>64=<O <==>-

64F<>==OE F5E=>?>7<= 6 45OF5?L=>EF< ?D54?D<OF<O (GGD5645=<O), <E?>?L7GNF 

4?O D5L5=<O 4=4?<F<G5E><E < <EE?54>64F5?LE><E 7444G E>6D5<5==OE F5E=<G5E><E 

ED54EF6 < <=D>D<4F<>==OE F5E=>?>7<=. 

�545=<5 4=56=<>4, E>EF46?5=<5 >FGUF4. 

$>D<O F5>GM57> >>=FD>?O (4=56=<> ?D4>F<><, >FG5F ?> ?D4>F<>5)  

 

3 MF4? �4>?NG<F5?L=O= MF4?    

�5=L 16-20 

�D>6>4<FEO >5D45>F>4 < 4=4?<7 ?>?GG5==>= <=D>D<4F<<; ?>47>F>6>4 >FG5F4 

?> ?D4>F<>5; >D>D<?5=<5 >FG5F4 < 4=56=<>4; ?>?GG5=<5 >F7O64 DG>>6>4<F5?O; 

?>47>F>6>4 > 74M<F5 >FG5F4 ?> ?D4>F<>5. 

$>D<O F5>GM57> >>=FD>?O 3 74M<F4 >FG5F4 E >F5=>>=. 

 

 

&45?<F4 4 

%4<>EF>OF5?L=>5 <7GG5=<5 F5< 
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7 
?/? 

�4764=<5 F5< 4?O E4<>EF>OF5?L=>7> <7GG5=<O �><?5F5=F<< 

1  %>6D5<5==O5 F5E=<G5E><5 ED54EF64 < <=D>D<4F<>==O5 F5E=>?>-

7<<, ?>76>?ONM<5 D5L4FL 4=4?<F<G5E><5 < <EE?54>64F5?LE><5 74-

44G< 

'�-1.1; '�-1.2; 

'�-1.3; '�-2.1; 

'�-2.2; '�-2.3; 

'�-4.1; '�-4.2; 

'�-4.3; '�-6.1; 

'�-6.2; '�-6.3; 

��>E-1.1; ��>E-

1.2; ��>E-1.3; 

��>E-2.1; ��>E-

2.2; ��>E-2.3; 

��>E-3.1; ��>E-

3.2; ��>E-3.3; 

��>E-4.1; ��>E-

4.2; ��>E-4.3 

2 

 &5E=>?>7<N ?>EFD>5=<O EF4=44DF=OE F5>D5F<G5E><E < M>>=><5FD<-

G5E><E <>45?5= 

6. �D74=<74F<O < DG>>6>4EF6> ?D><76>4EF65==>= ?D4>F<>>= ?> ?>?GG5=<N 

?D>D5EE<>=4?L=OE G<5=<= < >?OF4 ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 

6.1. $G>>6>4<F5?L ?@><76>4EF65==>= ?@4>F<>< >F >4D54@O  

�47=4G5=<5.  

�?O DG>>6>4EF64 ?D4>F<>>= EFG45=F4, ?D>6>4<<>= 6 ?D>D<?L=>= >D74=<74-

F<<, =47=4G4NFEO DG>>6>4<F5?L (DG>>6>4<F5?<) ?D4>F<>< <7 G<E?4 ?<F, >F=>EO-

M<EEO > ?D>D5EE>DE>>-?D5?>4464F5?LE>><G E>EF46G '=<65DE<F5F4, >D74=<7GNM5= 

?D>6545=<5 ?D4>F<><, < DG>>6>4<F5?L (DG>>6>4<F5?<) ?D4>F<>< <7 G<E?4 D45>F=<-

>>6 ?D>D<?L=>= >D74=<74F<<. 

�F65FEF65==>EFL.  

$G>>6>4<F5?L ?D4>F<>< >F65G45F ?5D54 74654GNM<< >4D54D>=, 4<D5>F>D>< 

<=EF<FGF4 74 >D74=<74F<N < >4G5EF65==>5 ?D>6545=<5 ?D4>F<><, < 6O?>?=5=<5 

>5GG4NM<<<EO ?D>7D4<<O ?D4>F<><. 

$G>>6>4<F5?< ?@><76>4EF65==>= ?@4>F<>< >F '=<65@E<F5F4: 

- 'EF4=46?<64NF E6O7L E DG>>6>4<F5?5< ?D4>F<>< >F >D74=<74F<<. 

- �D74=<7GNF 6O574 EFG45=F>6 =4 ?D4>F<>G < ?D>6>4OF 6E5 =5>5E>4<<O5 <5-

D>?D<OF<O, E6O74==O5 E <E 6O574><. 

- %>EF46?O5F D45>G<= 7D4D<> (??4=) ?D>6545=<O ?D4>F<><; 

- $47D454FO64NF F5<4F<>G <=4<6<4G4?L=OE 7444=<= < >>47O64NF <5F>4<G5-

E>GN ?><>ML EFG45=F4< ?D< 6O?>?=5=<< <<< <=4<6<4G4?L=OE 7444=<= < E5>D5 

<4F5D<4?>6 > 6O?GE>=>= >64?<D<>4F<>==>= D45>F5 (6 E>45 ?D><76>4EF65==>= 

?D4>F<><) < ?>47>F>6>5 >FG5F4. 

- %>6<5EF=> E DG>>6>4<F5?5< ?D4>F<>< >F >D74=<74F<< D4E?D545?ONF EFG-

45=F>6 ?> D45>G<< <5EF4< < ?5D5<5M4NF <E ?> 6<44< D45>F. 

- �EGM5EF6?ONF >>=FD>?L 74 E>5?N45=<5< ED>>>6 ?D>6545=<O ?D4>F<>< < 

E>>F65FEF6<5< 55 E>45D64=<O FD55>64=<O<, GEF4=>6?5==O< ���� �� < 4>6>4OF 

<=D>D<4F<N > =4DGL5=<OE 4> 45>4=4F4 < 6O?GE>4NM5= >4D54DO. 
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- �5EGF >F65FEF65==>EFL E>6<5EF=> E DG>>6>4<F5?5< ?D4>F<>< >F >D74=<74-

F<< 74 E>5?N45=<5 EFG45=F4<< ?D46<? F5E=<>< 557>?4E=>EF<, ?>64D=>= 557>?4E-

=>EF<, 4 F4>65 ?D46<?4<< 6=GFD5==57> FDG4>6>7> D4E?>DO4>4. 

- �F5=<64NF D57G?LF4FO ?D>E>645=<O ?D4>F<>< EFG45=F>6. 

- $4EE<4FD<64NF >FG5FO EFG45=F>6 ?> ?D4>F<>5, 44NF >F7O6O >5 <E D45>F5 

< ?D54EF46?ONF 74654GNM5<G >4D54D>= ?<EL<5==GN D5F5=7<N > E>45D64=<< >F-

G5F4 E ?D5464D<F5?L=>= >F5=>>= D45>FO EFG45=F>6. 

$G>>6>4<F5?L ?@><76>4EF65==>= ?@4>F<>< >F ?@>D<?L=>= >@74=<74F<<:  

- %>7?4E>6O645F E DG>>6>4<F5?5< ?D4>F<>< >F '=<65DE<F5F4 E>6<5EF=O= D4-

5>G<= 7D4D<> (??4=) ?D>6545=<O ?D4>F<><, <=4<6<4G4?L=O5 7444=<O, E>45D64=<5 

< ??4=<DG5<O5 D57G?LF4FO ?D4>F<><. 

- �D54>EF46?O5F D45>G<5 <5EF4 EFG45=F4<. 

- �55E?5G<645F 557>?4E=O5 GE?>6<O ?D>E>645=<O ?D4>F<>< >5GG4NM<<EO, 

>F65G4NM<5 E4=<F4D=O< ?D46<?4< < FD55>64=<O< >ED4=O FDG44. 

- �D>6>4<F <=EFDG>F46 >5GG4NM<EEO ?> >7=4>><?5=<N E FD55>64=<O<< 

>ED4=O FDG44, F5E=<>< 557>?4E=>EF<, ?>64D=>= 557>?4E=>EF<, 4 F4>65 ?D46<?4<< 

6=GFD5==57> FDG4>6>7> D4E?>DO4>4. 

- �>4?<EO645F 4=56=<> < 4DG7<5 <5F>4<G5E><5 <4F5D<4?O, 7>F>6<F E4D4>F5-

D<EF<>G > ?D>E>645=<< ?D4>F<>< EFG45=F><. 

�5O74==>EF< >5GG4NM<EEO ?@< ?@>E>645=<< ?@><76>4EF65==>= ?@4>F<><: 

- �O?>?=ONF 7444=<O, ?D54GE<>FD5==O5 ?D>7D4<<>= ?D4>F<><. 

- %>5?N44NF ?D46<?4 6=GFD5==57> FDG4>6>7> D4E?>DO4>4, FD55>64=<O 

>ED4=O FDG44  < ?>64D=>= 557>?4E=>EF<. 

- �54GF 4=56=<><, , 6 >>F>DOE 74?<EO64NF 44==O5 > E4D4>F5D5 < >5N5<5 

?D4>F<><, <5F>44E 5U 6O?>?=5=<O. 

- �D54EF46?ONF E6>56D5<5==> DG>>6>4<F5?N ?D4>F<>< 4=56=<>, ?<EL<5=-

=O= >FG5F > 6O?>?=5=<< 6E5E 7444=<=, >F7O6 >F DG>>6>4<F5?O ?D4>F<>< >F �D74-

=<74F<< < E44NF 74G5F E >F5=>>= ?> ?D4>F<>5 6 E>>F65FEF6<< E D>D<>= 4FF5EF4F<< 

D57G?LF4F>6 ?D4>F<><, GEF4=>6?5==>= GG55=O< ??4=>< E GG5F>< FD55>64=<= 

$��% �� < ����. 

- �5EGF >F65FEF65==>EFL 74 6O?>?=O5<GN D45>FG < 5U D57G?LF4FO. 

6.2  �=EF@G>F<O ?> F5E=<>5 557>?4E=>EF< 

�5D54 =4G4?>< ?D4>F<>< 74<5EF<F5?L 4<D5>F>D4 ?> ?D4>F<>5 < ?D>D>D<5=-

F4F<>==>= D45>F5 < DG>>6>4<F5?< ?D4>F<>< >F '=<65DE<F5F4 ?D>6>4OF <=EFDG>-

F46 EFG45=F>6 ?> 6>?D>E4< >ED4=O FDG44, F5E=<>< 557>?4E=>EF<, ?>64D=>= 557-

>?4E=>EF<, ?D><76>4EF65==>= E4=<F4D<< < >5M<< 6>?D>E4< E>45D64=<O ?D4>F<>< 

E D57<EFD4F<5= 6 6GD=4?5 <=EFDG>F464 < 6>?D>E4< E>45D64=<O ?D4>F<><.   

6.2.1. �5M<5 F@55>64=<O >E@4=O F@G44 

� E4<>EF>OF5?L=>= D45>F5 4>?GE>4NFEO ?<F4 6 6>7D4EF5, GEF4=>6?5==>< 4?O 

>>=>D5F=>= ?D>D5EE<< (6<44 D45>F) &� < %?<E>>< ?D><76>4EF6, ?D>D5EE<= < D4-

5>F E FO65?O<< < 6D54=O<< GE?>6<O<< FDG44, =4 >>F>DOE 74?D5M45FEO 
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?D<<5=5=<5 FDG44 65=M<=, < %?<E>>< ?D><76>4EF6, ?D>D5EE<= < D45>F E FO65-

?O<< < 6D54=O<< GE?>6<O<<, =4 >>F>DOE 74?D5M5=> ?D<<5=5=<5 FDG44 ?<F <>-

?>65 18 ?5F. 

�5GG4NM<5EO 4>?6=O ?D>E>4<FL ?D5464D<F5?L=O= <54<F<=E><= >E<>FD <, 

?D< =5>5E>4<<>EF<, ?5D<>4<G5E><= >E<>FD < ?D>F<6>M=F5D4?<F=O5 ?D<6<6><. 

�>E?5 MF>7> 3 >5GG5=<5 ?> >ED4=5 FDG44: 66>4=O= <=EFDG>F46, ?5D6<G=O= =4 D4-

5>G5< <5EF5 E ?>E?54GNM5= EF46<D>6>>= < 6 44?L=5=L5< 3 ?>6F>D=O=, 6=5??4-

=>6O= < F5?56>= <=EFDG>F46<; D47 6 7>4 3 >GDE>6>5 >5GG5=<5.  

� G?D46?5=<N <4L<=>=, <5E4=<7<>< < F.4. 4>?GE>4NFEO ?<F4, <<5NM<5 

E?5F<4?L=GN ?>47>F>6>G. 

�5GG4NM<=EO >5O74= E>5?N44FL ?D46<?4 FDG4>6>7> 6=GFD5==57> D4E?>-

DO4>4, GEF4=>6?5==O5 4?O >>=>D5F=>= ?D>D5EE<< < 6<44 D45>F, D56<< FDG44 < >F-

4OE4, ?D46<?4 ?>64D=>= < M?5>FD>557>?4E=>EF<. 

�?4E=O5 < 6D54=O5 ?D><76>4EF65==O5 D4>F>DO: ?444NM<5 45D56LO < <E G4-

EF<, 65FD>64?L=>-5GD5?><=O5, 7>D5?O5, EGE>EF>==O5, D4GF=O5 < <=O5 >?4E=O5 45-

D56LO, ?>4D>EF, >GEF4D=<><; 46<6GM<5EO <4L<=O, 47D574FO, DGG=>= <>F><=EFDG-

<5=F, 6D4M4NM<5EO G4EF< < D56GM<5 D45>G<5 >D74=O <4L<=, <5E4=<7<>6, <>F>-

<=EFDG<5=F4, F>?G>>6O5 G44DO ?5E>E>7O=EF65==OE 47D574F>6; ?>6OL5==O5 

GD>6=< 6<5D4F<<, LG<4, 74747>64==>EF<, 74?O?5==>EF<, ?5EF<F<4O < O4>E<<<-

>4FO, =55?47>?D<OF=O5 ?D<D>4=O5 < <5F5>GE?>6<O, >D>6>E>EGM<5 =4E5>><O5, 

??4<O, 744O<?5==>EFL, ?>6OL5==O= GD>65=L D44<4F<<, =54>EF4F>> >E65M5==>-

EF<. 

�5=EF6<5 =55?47>?D<OF=OE D4>F>D>6: 6>7<>6=>EFL FD46<<D>64=<O < ?>?G-

G5=<O >5M57> <?< ?D>D5EE<>=4?L=>7> 745>?564=<O, =54><>74=<O, E=<65=<5 D45>-

F>E?>E>5=>EF<. 

�?O E=<65=<O 6>745=EF6<O =4 >5GG4NM<EEO >?4E=OE < 6D54=OE ?D><76>4-

EF65==OE D4>F>D>6 D45>F>44F5?L >5O74=: >55E?5G<FL <E 55E??4F=> E?5F>4564>=, 

E?5F>5G6LN, ?D54>ED4=<F5?L=O<< ?D<E?>E>5?5=<O<< ?> ?D>D5EE<O<, 6<44< D4-

5>F 6 E>>F65FEF6<< E 45=EF6GNM<<< &<?>6O<< >FD4E?56O<< =>D<4<< 55E??4F=>= 

<E 6O44G< < 74>?NG5==O<< >>??5>F<6=O<< 4>7>6>D4<<, ?D>6545=<5 ?D<6<6>> >F 

>?5M56>7> M=F5D4?<F4 < <=OE ?D>D<?4>F<G5E><E <5D>?D<OF<= FD46<4F<7<4 < 74-

5>?5645<>EF<. 

�5GG4NM<=EO >5O74=: 6O?>?=OFL D45>FG, ?> >>F>D>= >5GG5= < ?D><=EFDG>-

F<D>64= ?> >ED4=5 FDG44 < =4 6O?>?=5=<5 >>F>D>= >= <<55F 7444=<5; 6O?>?=OFL 

FD55>64=<O <=EFDG>F<< ?> >ED4=5 FDG44, ?D46<?4 FDG4>6>7> 6=GFD5==57> D4E?>-

DO4>4, =5 D4E?<64FL E?<DF=O5 =4?<F><, >GD<FL 6 >F6545==OE <5EF4E < E>5?N44FL 

FD55>64=<O ?>64D=>= 557>?4E=>EF<; D45>F4FL 6 E?5F>45645 < >5G6<, ?D46<?L=> 

<E?>?L7>64FL ED54EF64 <=4<6<4G4?L=>= < 7DG??>6>= 74M<FO, 7=4FL < E>5?N44FL 

?D46<?4 ?D>5744 6 ?4EE46<DE>>< FD4=E?>DF5. 

�D< =5EG4EF=>< E?GG45 =5>5E>4<<>: >>474FL ?>EFD4446L5<G ?5D6GN ?>-

<>ML (>464O= >5GG4NM<=EO 4>?65= 7=4FL ?>DO4>> 55 >>474=<O < =47=4G5=<5 ?5-

>4DEF65==OE ?D5?4D4F>6 <=4<6<4G4?L=>= 4?F5G><); ?> 6>7<>6=>EF< E>ED4=<FL 

>5EF4=>6>G E?GG4O, ?D< =5>5E>4<<>EF< 6O764FL E>>DGN ?><>ML < > E?GG<6L5<EO 

4>?>6<FL =5?>ED54EF65==><G DG>>6>4<F5?N D45>F. 
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�5> 6E5E =5<E?D46=>EFOE D45>FO <5E4=<7<>6, >5>DG4>64=<O, =4DGL5=<OE 

F5E=>?>7<G5E><E D56<<>6, GEG4L5=<< GE?>6<= FDG44, 6>7=<>=>65=<< GD576OG4=-

=OE E<FG4F<= E>>5M<FL 44<<=<EFD4F<< < ?D<=OFL ?D>D<?4>F<G5E><5 <5DO ?> >5-

EF>OF5?LEF64<, >55E?5G<6 E>5EF65==GN 557>?4E=>EFL. 

� E>>F65FEF6<< E 45=EF6GNM<< 74>>=>44F5?LEF6>< >5GG4NM<=EO >5O74= 

6O?>?=OFL FD55>64=<O <=EFDG>F<=, ?D46<? ?> >ED4=5 FDG44, ?>EF>O==> < ?D4-

6<?L=> <E?>?L7>64FL ED54EF64 <=4<6<4G4?L=>= < 7DG??>6>= 74M<FO. %6>56D5-

<5==> ?D>E>4<FL ?D5464D<F5?L=O5 < ?5D<>4<G5E><5 <54<F<=E><5 >E<>FDO, ?D>-

F<6>M=F5D4?<F=O5 ?D<6<6>< < <=O5 <5DO ?D>D<?4>F<>< 745>?5645<>EF< < FD46-

<4F<7<4.  

 

7. �5F>4<G5E><5 G>474=<O ?> 6O?>?=5=<N ?D>7D4<<O ?D4>F<>< 

7.1. �>>G<5=FO, =5>5E>4<<O5 4?O 4FF5EF4F<< ?> ?@4>F<>5 

�> 6D5<O ?D>E>645=<O ?D><76>4EF65==>= ?D4>F<>< �4GG=>-<EE?54>64F5?L-

E>>= D45>FO >5GG4NM<=EO 6545F 4=56=<> (E<. ?. 7.2 < ?D<?>65=<5 �). 

�> 6O?>?=5==>= ?D4>F<>5, >5GG4NM<=EO E>EF46?O5F >FG5F (E<. ?. 7.3 < ?D<-

?>65=<5 �). 

7.2. �@46<?4 >D>@<?5=<O < 6545=<O 4=56=<>4 

�> 6D5<O ?D>E>645=<O ?D4>F<>< >5GG4NM<=EO ?>E?54>64F5?L=> E>EF46?O5F 

< 6O?>?=O5F MF4?O D45>F (<5D>?D<OF<=, 45=EF6<=) 6 E>>F65FEF6<< E <=4<6<4G4?L-

=O< 7444=<5<, G>47O645F ED>>4< 6O?>?=5=<O MF<E D45>F, 4 D57G?LF4FO 74=>E<F 6 

4=56=<>. 

�7> E?54G5F 74?>?=OFL 5654=56=> ?> >>>=G4=<< D45>G57> 4=O. � 4=56=<>5 >FD464-

NFEO 6E5 D45>FO, 6 >>F>DOE >5GG4NM<=EO ?D<=<<4? GG4EF<5. �D< >?<E4=<< 6O?>?=5=-

=OE D45>F G>47O64NF F5?L < E4D4>F5D<EF<>G D45>FO, E?>E>5O < <5F>4O 55 6O?>?=5=<O, 

?D<6>4OFEO D57G?LF4FO < 445FEO <E >F5=>4. �4?D<<5D, ?D< D45>F5 E 4>>G<5=F4<<, =5>5-

E>4<<> G>47O64FL <E =4764=<5 < =47=4G5=<5. 

� 4=56=<> F4>65 74=>EOFEO E6545=<O, ?>?GG5==O5 6> 6D5<O M>E>GDE<=, 74=OF<= E 

?D5?>4464F5?O<<, >>=EG?LF4F<= E> E?5F<4?<EF4<< ?D54?D<OF<O < D45>G<<<. 

�5>5E>4<<> ?><=<FL, GF> 4=56=<> O6?O5FEO >E=>6=O< 4>>G<5=F><, E4D4>F5D<7G-

NM<< D45>FG >5GG4NM57>EO < 57> GG4EF<5 6 6O?>?=5=<< D45>F < ?D>6545=<< <EE?54>-

64=<=. �4?<E< 6 4=56=<>5 4>?6=O 5OFL G5F><<< < 4>>GD4F=O<<. �65=545?L=> 4=56=<> 

?D>65DO5F ?D5?>4464F5?L, >F65FEF65==O= 74 ?D4>F<>G, 45?45F GEF=O5 < ?<EL<5==O5 74-

<5G4=<O ?> 6545=<N 4=56=<>4 < EF46<F E6>N ?>4?<EL. 

7.3. �5M<5 F@55>64=<O, EF@G>FG@4 >FG5F4 < ?@46<?4 57> >D>@<?5=<O 

�FG5F ?> F5<5 <EE?54>64=<O E>45D6<F >5D45>F>G E>5D4==>7> =4GG=>7>, 

GG55=>7> < EF4F<EF<G5E>>7> <4F5D<4?4 < D>D<<D>64=<5 F5>D5F<G5E><E < ?D4>F<-

G5E><E D57G?LF4F>6 F5<O ��$, >5?444NM<E M?5<5=F4<< >?D545?5==>= =4GG=>= 

=>6<7=O < <<5NM<5 D54?L=O= M>>=><<G5E><= MDD5>F.  

�D<<5D=O5 F5<O =4GG=>-<EE?54>64F5?LE><E D45>F 

1. ->>=><<G5E>4O >F5=>4 <E?>?L7>64=<O FDG4>6OE D5EGDE>6 ?D54?D<OF<O 
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(>D74=<74F<<, D<D<O) 

3. �=4?<7 >D74=<74F<< < D>D< >??4FO FDG44 =4 ?D54?D<OF<< (>D74=<74-

F<<). 

4. �=4?<7 ?D><76>4<F5?L=>EF< FDG44 =4 ?D54?D<OF<< (>D74=<74F<<) < ?GF< 

?>6OL5=<O. 

5. -DD5>F<6=>EFL <E?>?L7>64=<O ?5DE>=4?4 =4 ?D54?D<OF<<, ?GF< ?>6OL5-

=<O. 

7. �E?>?L7>64=<5 >E=>6=OE D>=4>6 ?D54?D<OF<O: >F5=>4 < ?GF< G?GGL5-

=<O. 

8. �>6OL5=<5 MDD5>F<6=>EF< <E?>?L7>64=<O <4F5D<4?L=OE D5EGDE>6 =4 

?D54?D<OF<<. 

9. �=4?<7 G?D46?5=<O 74FD4F4<< =4 ?D54?D<OF<< (>D74=<74F<<) < ?GF< 

E>65DL5=EF6>64=<O. 

10. �?<O=<5 E>EF464 < EFDG>FGDO F>64D=OE 74?4E>6 =4 M>>=><<G5E><5 ?>-

>474F5?< ?D54?D<OF<O, <E >?F<<<74F<O. 

11. �5>D>F=O5 ED54EF64 ?D54?D<OF<O (>D74=<74F<<), <E D>D<<D>64=<5 < 

<E?>?L7>64=<5. 

12. �==>64F<>==4O 45OF5?L=>EFL ?D54?D<OF<O (>D74=<74F<<) < ?GF< 55 

E>65DL5=EF6>64=<O. 

13. �<7<=7 >4> <=EFDG<5=F D<=4=E<D>64=<O <=65EF<F<>==OE </<?< 

<==>64F<>==OE ?D>5>F>6 =4 ?D54?D<OF<< (>D74=<74F<<). 

14.->>=><<G5E>4O MDD5>F<6=>EFL <E?>?L7>64=<O 75<5?L=OE D5EGDE>6. 

15. ->>=><<G5E>4O MDD5>F<6=>EFL <E?>?L7>64=<O D5EGDE=>7> ?>F5=F<-

4?4 >D74=<74F<< < ?GF< 55 ?>6OL5=<O. 

16.%555EF><<>EFL ?D>4G>F<< >D74=<74F<< < ?GF< 55 E=<65=<O. 

17. �745D6>< ?D><76>4EF64 < E555EF><<>EFL ?D>4G>F<< D4EF5=<56>4EF64 

?GF< <E E=<65=<O. 

18.->>=><<G5E>4O MDD5>F<6=>EFL ?D><76>4EF64 ?D>4G>F<< D4EF5=<56>4-

EF64 < ?GF< 5U ?>6OL5=<O 

19. ->>=><<G5E><5 D57G?LF4FO D54?<74F<< ?D>4G>F<< E5?LE>>E>7O=-

EF65==>= >D74=<74F<< < >F5=>4 <E MDD5>F<6=>EF<. 

20. �<47=>EF<>4 MDD5>F<6=>EF< M>>=><<G5E>>= 45OF5?L=>EF< ?D54?D<O-

F<O (>D74=<74F<<). 

  21.->>=><<G5E><5 D57G?LF4FO D54?<74F<< ?D>4G>F<< 6<6>F=>6>4EF64 < 

>F5=>4 <E MDD5>F<6=>EF<.  

24.->>=><<G5E><5 D57G?LF4FO ?D><76>4EF64 < D54?<74F<< ?D>4G>F<< 

<OE=>7> E>>F>6>4EF64 < >F5=>4 <E MDD5>F<6=>EF<.  

23.�>6OL5=<5 MDD5>F<6=>EF< DG=>F<>=<D>64=<O ?5D5D454FO64NM5= 

>D74=<74F<<. 

 

�5M<5 FD55>64=<O. �5M<5 FD55>64=<O > >FG5FG: 

- G5F>>EFL < ?>7<G5E>4O ?>E?54>64F5?L=>EFL <7?>65=<O <4F5D<4?4; 

- G554<F5?L=>EFL 4D7G<5=F4F<<; 

- >D4F>>EFL < F>G=>EFL D>D<G?<D>6>>, <E>?NG4NM<E 6>7<>6=>EFL =5>4-

=>7=4G=>7> F>?>>64=<O; 
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- >>=>D5F=>EFL <7?>65=<O D57G?LF4F>6 D45>FO; 

- >5>E=>64==>EFL D5>><5=44F<= < ?D54?>65=<=. 

%FDG>FGD4 >FG5F4. %FDG>FGD=O<< M?5<5=F4<< >FG5F4 O6?ONFEO: 

- F<FG?L=O= ?<EF; 

- E>45D64=<5; 

-  

- 66545=<5; 

- >E=>6=4O G4EFL; 

- 74>?NG5=<5; 

- 5<5?<>7D4D<G5E><= E?<E>>; 

- ?D<?>65=<O.  

�?<E4=<5 M?5<5=F>6 EFDG>FGDO >FG5F4 .�5D45>F4FL E>5D4==O= =4GG-

=O=, GG55=O= < EF4F<EF<G5E><= <4F5D<4? < ED>D<G?<D>64FL F5>D5F<G5E><5 < 

?D4>F<G5E><5 D57G?LF4FO F5<O ��$.  

&<FG?L=O= ?<EF >FG5F4. &<FG?L=O= ?<EF O6?O5FEO ?5D6O< ?<EF>< >FG5F4. 

�5D5=>EO E?>6 6 =44?<EOE F<FG?L=>7> ?<EF4 =5 4>?GE>4NFEO. �D<<5D >D>D<?5=<O 

F<FG?L=>7> ?<EF4 ?<EF>< >FG5F4 ?D<6545= 6 �D<?>65=<< �. 

%>45@64=<5. -F> EFDG>FGD=O= M?5<5=F >FG5F4, >D4F>> >?<EO64NM<= 

EFDG>FGDG >FG5F4 E =><5D4<< < =4<<5=>64=<O<< D4745?>6, ?>4D4745?>6, 4 F4>65 

?5D5G<E?5=<5< 6E5E ?D<?>65=<= < G>474=<5< E>>F65FEF6GNM<E EFD4=<F. 

�6545=<5: 4>FG4?L=>EFL 6O5D4==>= F5<O (>D4F>>5 >5>E=>64=<5 ?D<G<=O 

6O5>D4 44==>= F5<O); - F5?L < 7444G< <EE?54>64=<O (>>=5G=O= <F>7 D45>FO, >?D5-

45?5=<5 >?F<<4?L=OE ?GF5= D5L5=<O 7444G 6 ?D>F5EE5 ?>47>F>6>< D45>FO. �444G< 

<EE?54>64=<O ?D54EF46?ONF E>5>= >>=>D5F=O5 ?>E?54>64F5?L=O5 MF4?O (?GF<) D5-

L5=<O ?D>5?5<O ?> 4>EF<65=<N >E=>6=>= F5?<; - >5N5>F < ?D54<5F <EE?54>64=<O 

(>5N5>F <7GG5=<O 3 MF> O6?5=<5, =4 >>F>D>5 =4?D46?5=4 <EE?54>64F5?LE>4O 45O-

F5?L=>EFL EG5N5>F4. �D54<5F <7GG5=<O 3 MF> ??4=<DG5<O5 > <EE?54>64=<N >>=-

>D5F=O5 E6>=EF64 >5N5>F4); - <5F>4>?>7<G5E>4O >E=>64 <EE?54>64=<O (=4?D<<5D, 

<7GG5=<5 < 4=4?<7 =4GG=>= ?<F5D4FGDO, <7GG5=<5 < >5>5M5=<5 >F5G5EF65==>= < 

74DG556=>= ?D4>F<><, <>45?<D>64=<5, ED46=5=<5, 4=4?<7, E<=F57, <=F5D6LN<D>64-

=<5, 4=4?<F<G5E>4O 7DG??<D>6>4 44==OE, 7D4D<G5E>>5 <7>5D465=<5, 7>D<7>=F4?L-

=O= < 65DF<>4?L=O= 4=4?<7 D<=4=E>6>= >FG5F=>EF<, <5F>4O 45E>?NF=OE, >F=>-

E<F5?L=O= < ED54=<E 65?<G<=, <5F>4O >>DD5?OF<>==>-D57D5EE<>==>7>, D4>F>D-

=>7> 4=4?<74 < 4D.); - ?D4>F<G5E>4O 7=4G<<>EFL D45>FO (74>?NG45FEO 6 6>7<>6=>-

EF< <E?>?L7>64FL D57G?LF4FO <EE?54>64=<O 6 ?D4>F<G5E>>= 45OF5?L=>EF<). �5N5< 

66545=<O 3 =5 5>?55 3 EFD4=<F. 

�E=>6=4O G4EFL. �E=>6=4O G4EFL 3 EFDG>FGD=O= M?5<5=F >FG5F4, FD55>64=<O 

> >>F>D><G >?D545?ONFEO 7444=<5< EFG45=FG > >FG5FG < <5F>4<G5E><<< G>474=<-

O<< > 6O?>?=5=<N ?D>7D4<<O ?D4>F<><. 

� E>>F65FEF6<< E <=4<6<4G4?L=O< 7444=<5< E>45D64=<5 >E=>6=>= G4EF< 

<>65F <5=OFLEO. �?O ?D<<5D4 <>65F 5OFL <E?>?L7>64=4 E?54GNM4O EFDG>FGD4: 

$4745? 1 6>?NG45F >5MGN E4D4>F5D<EF<>G >D74=<74F<< (?D54?D<OF<O): >D-

74=<74F<>==>-?D46>6>= D>D<O, 57> GGD54<F5?L=OE 4>>G<5=F>6, >E>55==>EF5= 

DG=>F<>=<D>64=<O; <5EF> =4E>645=<O; 6O?>?=O5<O5 F5?< < 7444G<; 4=4?<7 < 
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>F5=>4 E?5F<4?<74F<< ?D54?D<OF<<; >D74=<74F<>==GN EFDG>FGDG < DG=>F<>=4?L-

=>5 =47=4G5=<5 ?>4D4745?5=<= < E?G65; E4D4>F5D<EF<>4 ?5DE>=4?4 < >5M<5 ?>>4-

74F5?< D<=4=E>6>-E>7O=EF65==>= 45OF5?L=>EF< 74 ?>E?54=<5 FD< 7>44. 

 $4745? 2 E>45D6<F <=D>D<4F<N > ?D><76>4EF65==>-E>7O=EF65==>= 45OF5?L-

=>EF< >D74=<74F<<. �=4?<7 >E=>6=OE D>=4>6, >5>D>F=OE D>=>6, FDG4>6OE D5EGD-

E>6, 75<5?L=OE, E555EF><<>EF< ?D>4G>F<<. �4 MF>< MF4?5 =5>5E>4<<> >7=4>>-

<<FLEO E D<=4=E>6>= >FG5F=>EFLN, ?D>65EF< =5>5E>4<<O5 4=4?<F<G5E><5 D4EG5FO 

4?O >F5=>< MDD5>F<6=>EF< 45OF5?L=>EF< ?D54?D<OF<O, 6OO6<FL ?D<G<=O >F>?>=5-

=<O >F45?L=OE ?>>474F5?5= >F ?D54O4GM57> <?< ED54=5>FD4E?56>7> GD>6=O, ED>D-

<G?<D>64FL 6O6>4O < ?D54?>65=<O ?> GEFD4=5=<N <<5NM<EEO =54>EF4F>>6 < ?>-

6OL5=<N D57G?LF4F<6=>EF< ?D><76>4EF65==>-E>7O=EF65==>= < D<=4=E>6>-E>7O=-

EF65==>= 45OF5?L=>EF<. �D<6>4<FEO DG=>F<>=4?L=4O E4D4>F5D<EF<>4 ?>4D4745?5-

=<O, 745 ?D>E>4<F ?D4>F<>G EFG45=F. 

$4745? 3 �4 MF>< MF4?5 EFG45=F>< 445FEO E4D4>F5D<EF<>4 E>6D5<5==>7> E>-

EF>O=<O <7GG45<>= ?D>5?5<O, >?D545?O5FEO EF5?5=L 55 <7GG5==>EF< < =4GG=>= 

?D>D45>F4==>EF< >4> E> EF>D>=O >F5G5EF65==OE, F4> < 74DG556=OE <EE?54>64F5-

?5=; D>D<G?<DGNFEO 4<E>GEE<>==O5 6>?D>EO; >?D545?ONFEO >5?4EF< >D<F<G5-

E>>7> 6>745=EF6<O, =4 >>F>DOE 5G45F E>>=F5=FD<D>64=> 6=<<4=<5 6 E>45 44?L=5=-

L57> 6O?>?=5=<O ��$. 

�O?>?=OFEO <=4<6<4G4?L=>5 7444=<5, ?D54?>?474NM55 E5>D =5>5E>4<<>7> 

?D4>F<G5E>>7> <4F5D<4?4 < EF4F<EF<G5E><E 44==OE ?> F5<5 <EE?54>64=<O. �=4<-

6<4G4?L=>5 7444=<5 D>D<G?<DG5FEO < 6O445FEO 4> =4G4?4 ?D><76>4EF65==>= ?D4>-

F<>< DG>>6>4<F5?5< E6O74=> E 4=4?<7>< ?D54<5F4 

�<5?<>7@4D<G5E><= E?<E>>. �<5?<>7D4D<G5E><= E?<E>>3 EFDG>FGD=O= M?5-

<5=F >FG5F4, >>F>DO= ?D<6>4<FEO 6 >>=F5 F5>EF4 >FG5F4, ?D54EF46?ONM<= E?<E>> 

?<F5D4FGDO < 4DG7>= 4>>G<5=F4F<<, <E?>?L7>64==>= ?D< E>EF46?5=<< >FG5F4.  

�EF>G=<>< <=D>D<4F<<, >>F>DO5 <>7GF 5OFL <E?>?L7>64=O 6 >4G5EF65 F5>D5-

F<G5E>>= 547O =4GG=>7> <EE?54>64=<O: 

 4) 4<EE5DF4F<<, 46F>D5D5D4FO 4<EE5DF4F<=, =4GG=O5 EF4FL<, <4F5D<4?O >>=-

D5D5=F<=, <>=>7D4D<<, <4F5D<4?O ?5D<>4<G5E>>= ?5G4F<, D5EGDEO M?5>FD>==OE 

5<5?<>F5G=OE E<EF5<, <=D>D<4F<>==O5 D5EGDEO E5F< «�=F5D=5F» 

5) =>D<4F<6=>-?D46>64O 5474 ?> =4?D46?5=<N <EE?54>64=<O 3 �>=EF<FGF<O 

$$, $545D4?L=O5 74>>=O, >>45>EO (7D4644=E><=, 5N465F=O=, =4?>7>6O= < F.4.), 

'>47O �D57<45=F4 $$, �>EF4=>6?5=<O �D46<F5?LEF64 $$, �D<>47O �<=<EF5DEF64 

D<=4=E>6 $$ < 4D.  

6) 547O 44==OE >F5G5EF65==>= < 74DG556=>= EF4F<EF<><, 6 G4EF=>EF< 44==O5 

$545D4?L=>= E?G65O 7>EG44DEF65==>= EF4F<EF<>< < 55 F5DD<F>D<4?L=OE >D74=>6, 

4=4?<F<G5E><5 >57>DO. 

�@<?>65=<O (?> =5>5E>4<<>EF<). �D<?>65=<O O6?ONFEO E4<>EF>OF5?L=>= 

G4EFLN >FG5F4. � ?D<?>65=<OE ?><5M4NF <4F5D<4?, 4>?>?=ONM<= >E=>6=>= 

F5>EF.  

�D<?>65=<O<< <>7GF 5OFL: 

3 7D4D<><, 4<47D4<<O; 

3 F45?<FO 5>?LL>7> D>D<4F4,  

3 EF4F<EF<G5E><5 44==O5; 
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3 D>D<O 5GE74?F5DE>>= >FG5F=>EF<; 

3 D>F>7D4D<<, F5E=<G5E><5 (?D>F5EEG4?L=O5) 4>>G<5=FO </<?< <E DD47-

<5=FO, 4 F4>65 F5>EFO, >>F>DO5 ?> D47=O< ?D<G<=4< =5 <>7GF 5OFL ?>-

<5M5=O 6 >FG5F < F.4. 

�D>@<?5=<5 F5>EF>6>7> <4F5@<4?4 (��%& 7.0.11 3 2011) 

1. �FG5F 4>?65= 5OFL 6O?>?=5= ?5G4F=O< E?>E>5>< E <E?>?L7>64=<5< >><?LN-

F5D4 < ?D<=F5D4 =4 >4=>= EF>D>=5 55?>= 5G<47< D>D<4F4 � 4 (210x297 <<). 

2. �>?O: E ?56>= EF>D>=O - 25 <<; E ?D46>= - 10 <<; 6 65DE=5= G4EF< - 20 <<; 6 

=<6=5= - 20 <<. 

3. &<? LD<DF4: Times New Roman Cyr. ,D<DF >E=>6=>7> F5>EF4: >5OG=O=, D47<5D 

14 ?F. ,D<DF 747>?>6>>6 D4745?>6 (7?46): ?>?G6<D=O=, D47<5D 16 ?F. ,D<DF 

747>?>6>>6 ?>4D4745?>6: ?>?G6<D=O=, D47<5D 14 ?F. &65F LD<DF4 4>?65= 5OFL 

G5D=O<. �56E<<6>?L=O= <=F5D64? 3 >5OG=O=. �56EFD>G=O= <=F5D64? 3 ?>-

?GF>D=O=. �574F=O= >FEFG? 3 1,25 E<. 

4. %FD4=<FO 4>?6=O 5OFL ?D>=G<5D>64=O. �>DO4>>6O= =><5D EF46<FEO 6 E5D5-

4<=5 65DE=57> ?>?O. �5D6>= EFD4=<F5= EG<F45FEO F<FG?L=O= ?<EF, => =><5D 

EFD4=<FO =4 =5< =5 ?D>EF46?O5FEO. 

5. �?46O <<5NF E>6>7=GN =G<5D4F<N 6 ?D545?4E >FG5F4 < >5>7=4G4NFEO 4D45-

E><<< F<DD4<<. � >>=F5 747>?>6>4 F>G>4 =5 EF46<FEO. �E?< 747>?>6>> E>-

EF><F <7 46GE ?D54?>65=<=, <E D4745?ONF F>G>>=. �5D5=>EO E?>6 6 747>?>6-

>4E =5 4>?GE>4NFEO. 

6. �><5D ?>4D4745?4 (?4D47D4D4) 6>?NG45F =><5D D4745?4 (7?46O) < ?>DO4>>6O= 

=><5D ?>4D4745?4 (?4D47D4D4), D4745?5==O5 F>G>>=. �D<<5D 3 1.1, 1.2 < F.4. 

7. �4644O 7?464 >FG5F4 =4G<=45FEO E =>6>= EFD4=<FO. 

8. �4?<E4==O= < >D>D<?5==O= 6 E>>F65FEF6<< E FD55>64=<O<< >FG5F >5GG4N-

M<=EO D57<EFD<DG5F =4 >4D54D5.  

8. 'G55=>-<5F>4<G5E>>5 < <=D>D<4F<>==>5 >55E?5G5=<5 ?D4>F<>< 

8.1. �E=>6=4O ?<F5@4FG@4  

1. ->>=><<>4 E5?LE>>7> E>7O=EF64 : GG55=<> 4?O 4>445<<G5E>>7> 54>4?46D<4F4 / 

�. /. �>64?5=>> [< 4D.] ; ?>4 D544>F<5= �. /. �>64?5=>>. 4 �>E>64 : �744F5?L-

EF6> .D4=F, 2021. 4 406 E. 4 (�4>4?46D. �>445<<G5E><= >GDE). 

2. ->>=><<>4 ?D54?D<OF<= 47D>?D><OL?5==>7> >><??5>E4 : GG55=<> 4?O 6G7>6 / 

$. �. �E<5F>6 [< 4D.] ; ?>4 >5M5= D544>F<5= $. �. �E<5F>64. 4 �>E>64 : �744F5?L-

EF6> .D4=F, 2021. 4 431 E. 4 (�OEL55 >5D47>64=<5). 4 ISBN 978-5-534-03363-2. 

4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 

URL: https://urait.ru/bcode/468819 

3. ->>=><<>4 ?D54?D<OF<= 47D>?D><OL?5==>7> >><??5>E4. �D4>F<>G< : GG55=>5 

?>E>5<5 4?O 6G7>6 / $. �. �E<5F>6 [< 4D.] ; ?>4 >5M5= D544>F<5= $. �. �E<5F>64. 4 

�>E>64 : �744F5?LEF6> .D4=F, 2020. 4 270 E. 4 (�OEL55 >5D47>64=<5). 4 

ISBN 978-5-534-01575-1. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 

.D4=F [E4=F]. 4 URL: https://urait.ru/bcode/450419  
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8.2. �>?>?=<F5?L=4O ?<F5@4FG@4 

1. �>=4D4FL564, �.�. ->>=><<>4 ?D54?D<OF<O [-?5>FD>==O= D5EGDE]: GG55=>5 
?>E>5<5 / �.�. �>=4D4FL564. 3 %4=>F-�5F5D5GD7: �4=L, 2021. 3 232 E. 3 $56<< 4>-
EFG?4: https://e.lanbook.com/book/156924. 
2. &<DD>6O5 FD4=ED>D<4F<< 6 47D4D=>< E5>F>D5 M>>=><<>< [&5>EF]: >>??5>F<6-
=4O <>=>7D4D<O / ?>4 D54. ..�. 'GFG56>=. 3 �>E>64: ��� «%4< �>?<7D4D<EF», 
2021. 3 340 E. 

3. �5G456, �.�. ->>=><<>4 ?D54?D<OF<= ��� [-?5>FD>==O= D5EGDE]: GG55=>5 
?>E>5<5 / �.�. �5G456, �.$. �4D4<>=>6, �.�. %4?O6>4. 3 %4=>F-�5F5D5GD7: �4=L, 
2021. 3 464 E. 3 $56<< 4>EFG?4: https://e.lanbook.com/book/167829. 
 

 

�5@<>4<G5E><5 <744=<O:  

 «�>?D>EO M>>=><<><», «���: M>>=><<>4 < G?D46?5=<5» , «->>=><<>4 

E5?LE>>7> E>7O=EF64», «->>=><<>4 E5?LE>>E>7O=EF65==OE < ?5D5D454FO64NM<E 

?D54?D<OF<=», «->>=><<>4 GEF>=G<6>7> D476<F<O». 

 

8.3. �@>7@4<<=>5 >55E?5G5=<5 < �=F5@=5F-@5EG@EO 

1. %?D46>G=4O ?D46>64O E<EF5<4 «�>=EG?LF4=F �?NE» [-?5>FD>=. D5EGDE]. 3 

$56<< 4>EFG?4: http:// www.consultant.ru 

2. %?D46>G=4O ?D46>64O E<EF5<4 «�4D4=F» [-?5>FD>=. D5EGDE].  3$56<< 4>-

EFG?4: http:// www.garant.ru 

3. -�% «�4F<>=4?L=O= F<DD>6>= D5EGDE $'���&», -?5>FD>==4O 5<5?<>-

F5>4 ?>?=>F5>EF>6OE 4>>G<5=F>6 $���' �� «$��' 3 �%%� <<. �.�. &<<<DO-

7564» // http:// rucont.ru. (>F>DOFO= 4>EFG?) 

4. -?5>FD>==4O 5<5?<>F5>4 &�%%� $>EE5?LE>74>445<<< G5D57 G44?5==O= 

F5D<<=4? &�%%� [-?5>FD>=. D5EGDE]. 3 $56<< 4>EFG?4: http:// www.cnhb.ru. (>F-

>DOFO= 4>EFG?) 

5. �4GG=4O M?5>FD>==4O 5<5?<>F5>4 [-?5>FD>=. D5EGDE]. 3 $56<< 4>EFG?4: 

http://elibrary.ru. (>F>DOFO= 4>EFG?) 

6.�D<F<4?L=O= E4=F �<=<EF5DEF64 D<=4=E>6 $>EE<=E>>= $545D4F<< 

[-?5>FD>=. D5EGDE]. 3 $56<< 4>EFG?4:   http://www.minfin.ru. (>F>DOFO= 4>EFG?) 

7. �D<F<4?L=O= E4=F &5=FD4?L=>7> 54=>4 $>EE<=E>>= $545D4F<< [-?5>-

FD>=. D5EGDE]. 3 $56<< 4>EFG?4:  http://www.cbr.ru. (>F>DOFO= 4>EFG?) 

8. �D<F<4?L=O= E4=F $>E�<7=5E�>=E4?F<=7 [-?5>FD>=. D5EGDE]. 3 $56<< 4>-

EFG?4: http://www.rbc.ru. (>F>DOFO= 4>EFG?) 

9. �D<F<4?L=O= E4=F �=65EF<F<>==O5 6>7<>6=>EF< $>EE<< [-?5>FD>=. D5-

EGDE]. 3 $56<< 4>EFG?4: http://www.ivr.ru (>F>DOFO= 4>EFG?) 

10. �D<F<4?L=O= E4=F �=65EF<F<< 6 $>EE<< [-?5>FD>=. D5EGDE]. 3 $56<< 

4>EFG?4:  http://www.investmentrussia.ru (>F>DOFO= 4>EFG?) 

11. $545D4?L=4O E?G654 7>EG44DEF65==>= EF4F<EF<>< [-?5>FD>==O= 

D5EGDE]. 3 -?5>FD>==O5 44==O5 33 $56<< 4>EFG?4: 

http://www.gks.ru/wps/wcm/connect/rosstat_main/rosstat/ru (>F>DOFO= 4>EFG?) 

12. $>EEF4F [-?5>FD>==O= D5EGDE]. 3 -?5>FD>=. 44=.3 [�, 2018]. 3 $56<< 

4>EFG?4: http://gks.ru/wps/wcm/connect/rosstat/rosstatsite/main (>F>DOFO= 4>EFG?) 
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�4E544=<5 %>65F4 ?> EFD4F57<G5E>><G D476<F<N < ?D<>D<F5F=O< ?D>5>F4< 

[�E=>6=4O F5<4 74E544=<O 3 ?D>7D4<<4 «&<DD>64O M>>=><<>4». � 74E544=<< ?D<-

=O?< GG4EF<5 G?5=O �D46<F5?LEF64, ?>?=><>G=O5 ?D54EF46<F5?< �D57<45=F4 6 

D545D4?L=OE >>DG74E, DG>>6>4<F5?< 5<7=5E->5N54<=5=<=, >DG?=OE >><?4=<= < 

>>D?>D4F<=]. 3 http://www.kremlin.ru/events/president/news/54983 

10. �D57<45=F ?>4?<E4? '>47 «� =4F<>=4?L=OE F5?OE < EFD4F57<G5E><E 74-

44G4E D476<F<O $>EE<=E>>= $545D4F<< =4 ?5D<>4 4> 2024 7>44». 3 

http://www.kremlin.ru/events/president/news/57425 

11. $5>F>D ��' ?D54?>6<? E>744FL 6 $$ ?D>7D4<<G D476<F<O F<DD>6OE <=-

F5??5>FG4?L=OE F5E=>?>7<=. 3https://tass.ru/nauka/6031963 

12. &<DD>64O M>>=><<>4 $$: M>E?5DF=>5 <=5=<5. 3

https://www.finam.ru/analysis/forecasts/cifrovaya-ekonomika-rf-ekspertnoemnenie- 

20170705-170347/ 

13. �GF<=: D>D<<D>64=<5 F<DD>6>= M>>=><<>< - 6>?D>E =4F557>?4E=>EF< 

$$. 3 https://tass.ru/ekonomika/4389411 

14. �GF<= > F<DD>6>= M>>=><<>5. �D57<45=F $>EE<< 6 6OEFG??5=<< =4 

��-$ D4EE>474? > ?5DE?5>F<64E F<DD>6>= M>>=><<>< 6 $>EE<<. 3 

https://fingazeta.ru/ekonomika/rossiyskaya_ekonomika/227725/ 

15. �=D>>><<G=<>4F<>==>5 F5E=>?>7<G5E>>5 ?D>EFD4=EF6> F<DD>6>= M>>-

=><<><. �DG7?O= EF>? «&<DD>64O FD4=ED>D<4F<O 5<7=5E4 =4 >E=>65 F5E=>?>7<= 

E?54GNM57> ?>>>?5=<O» / ��' �,-. 3 

https://bi.hse.ru/data/2017/03/30/1168539176/%D0%9A%D0%A128.03%20-

%20%D0%92%D0%BB%D0%B0%D0%B4%D0%B8%D0%BC%D0%B8%D1%80

%20%D0%95%D1%84%D0%B8%D0%BC%D1%83%D1%88%D0%BA%D0%B8%

D0%BD.pdf 

16. �7>DL �>7G55=>>: ��� $>EE<< =G6=O 90 FOEOG �&-E?5F<4?<EF>6. 3 

http://mcx.ru/press-service/news/igor-kozubenko-apk-rossii-nuzhny-90-tysyachit-

spetsialistov/ 

17. �O7>6O F<DD>6>= M>>=><<>< [�>64O ?D><OL?5==4O D56>?NF<O G65 

<45F. -F> F<DD>6<74F<O, >=4 65 4<46<F4?<74F<O (digitalization) 3 ?5D5=>E 5<7=5E-

?D>F5EE>6 6 F<DD>6GN ED54G. ' D>EE<=E><E >><?4=<= >EF4?>EL 6E57> 2-3 7>44 =4 

F>, GF>5O E>65DL<FL DO6>>, >>F>DO= ?>76>?<F << =5 >EF4FLEO =4 >5>G<=5 F<DD>-

6>= M>>=><<><]. 3 https://fingazeta.ru/finance/industry/228985/ 

18. �E?>?>6 &. �. &<DD>6<74F<O - >?NG56>= D4>F>D D476<F<O ���. 3

http://www.eurasiancommission.org/ru/act/prom_i_agroprom/dep_agroprom/actions/D

ocu-

ments/4%20%D0%95%D1%81%D0%BF%D0%BE%D0%BB%D0%BE%D0%B2.pd

f 

19. $�� >5EG4<?< ?D>5?5<O F<DD>6<74F<< =4G>< [3 >>FO5DO 6 744=<< ?D5-

7<4<G<4 $>EE<=E>>= 4>445<<< =4G> ($��) ?D>L5? II $>DG< Digital Science «&<D-

D>64O =4G>4 3 <<D>6O5 FD5=4O < «5>?LL<5 44==O5» 6 D>EE<=E>>< >>=F5>EF5»]. 3 

https://scientificrussia.ru/news/v-ran-obsudiliproblemy-tsifrovizatsii-nauki 

20. %>65F �<=>5D=4G>< $>EE<< ?> F<DD>6><G D476<F<N < <=D>D<4F<>==O< 

F5E=>?>7<O< GF65D4<? �>=F5?F<N E>744=<O �4<=>= F<DD>6>= ??4FD>D<O =4GG-

=>7> < =4GG=>-F5E=<G5E>>7> 674<<>45=EF6<O, >D74=<74F<< < ?D>6545=<O 
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E>6<5EF=OE <EE?54>64=<= 6 G44?5==>< 4>EFG?5, 6 F>< G<E?5 E GG4EF<5< 74DG556-

=OE GG5=OE. https://minobrnauki.gov.ru/ru/press-center/card/?id_4=1221 
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9. �4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5 ?D4>F<>< 

 

�5EF> < 6D5<O ?D>6545=<O ?D4>F<><  3 ?D54?D<OF<O < >D74=<74F<<, >F=>EO-

M<5EO > ��� $>EE<< (=4?D<<5D: ���» $>645EF6>», ��� «�>7>D>4<F><= 4?LO=E» 

%�� «�5M5D<=>» %�� «�GD46?O=E><=», ��� «�5D65=E»,  �� «�5?5=>7D44-

E>>5», ��� «����», ��� «�DG??4 '5D><7>6>».) 

�4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5 ?D4>F<>< >?D545?O5FEO 6>7<>6=>-

EFO<< >D74=<74F<< < 4>?6=> E>>F65FEF6>64FL E>6D5<5==><G E>EF>O=<N >FD4E?< < 

?D.  

�?O ?D>6545=<O 74M<FO >FG5F>6 ?> ?D><76>4EF65==>= ?D4>F<>5 =4GG=>-<E-

E?54>64F5?LE>>= D45>F5 =5>5E>4<< >><??5>F D4744F>G=>7> <4F5D<4?4 < <G?LF<-

<54<==4O 4G4<F>D<O. %6545=<O >5 >55E?5G5==>EF< E?5F<4?<7<D>64==O<< 4G4<F>-

D<O<< 6 F45?<F5 5. 

%?5F<4?<7<D>64==>5 >5>DG4>64=<5 =5 FD55G5FEO. 

&45?<F4 5  

%6545=<O >5 >55E?5G5==>EF< E?5F<4?<7<D>64==O<< 4G4<F>D<O<<,    

>45<=5F4<<, ?45>D4F>D<O<<  

%6545=<O >5 >55E?5G5==>EF< E?5F<4?<7<D>64==O<< 4G4<F>D<O<<, >4-

5<=5F4<<, ?45>D4F>D<O<<  
�4<<5=>64=<5 E?5F<4?L=OE ?><5M5-
=<= < ?><5M5=<= 4?O E4<>EF>OF5?L-
=>= D45>FO (7 GG55=>7> >>D?GE4, 7 

4G4<F>D<<) 

�E=4M5==>EFL E?5F<4?L=OE ?><5M5=<= < ?>-
<5M5=<= 4?O E4<>EF>OF5?L=>= D45>FO 

1 2 
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'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74-

=OF<= ?5>F<>==>7> F<?4, 4?O ?D>6545-

=<O F5>GM57> >>=FD>?O < ?D><56GF>G-

=>= 4FF5EF4F<< (GG55=O= >>D?GE 7 1, 

4G4<F>D<O 7 315) 

1. �G?LF<<54<==4O E<EF5<4 6 <5F4??<G5E>>< 

OM<>5: 

4) E<EF5<=O= 5?>> LG 

5) <>=<F>D 18,5 ELSE 

6) >?46<4FGD4 MITSUMI  

7) <OLL GENIUS 

?D>5>F>D �PSON NEC VT580G 

4) ?G?LF 4<EF4=F. EPSON 

5) ?D>5>F<>==O= M>D4= BARONET 

2. �4DFO  33LF. 

3. %>4<5=>< 35 LF. 

4. �>E>4 <5?>64O 1,5*3,5 -1 LF. 

5. &D<5G=4 4?O 6OEFG??5=<O 1LF. 

6. %FG? 4?O ?D5?>4464F5?O 1LF 

7. %F>? 4?O ?D5?>4464F5?O 1LF 

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 

?D4>F<G5E><E 74=OF<=, 4?O ?D>6545=<O 

F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4F-

F5EF4F<< ('G55=O= >>D?GE 7 1, 4G4<F>-

D<O 7 316) 

1. %F>?O 10 LF. 

2. %FG?LO 20 LF. 

3. �>E>4 <5?>64O E>?44O6. 1 LF. 

4. &D<5G=4 4?O 6OEFG??5=<O 1LF. 

5. %>4<5=>< 2LF. 

&5=FD4?L=4O =4GG=4O 5<5?<>F5>4 <<5=<  

�.�. �5?57=>64 

'<F4?L=O5 74?O 5<5?<>F5>< 

�5M56<F<5 7 7 �><=4F4 4?O E4<>?>47>F>6>< 
 

 
 
 

 

10. �D<F5D<< >F5=>< G<5=<=, =46O>>6 (6 F>< G<E?5 < 74O6?5==OE 

>><?5F5=F<=) 

10.1. &5>GM4O 4FF5EF4F<O ?> @4745?4< ?@4>F<>< 

�444=<5  

1)�O5D4FL >5N5>F < >?D545?<FL ?D>5?5<G <EE?54>64=<O;  

2)�7GG<FL < E>EF46<FL >57>D4 DG=44<5=F4?L=>= < ?5D<>4<G5E>>= ?<F5D4-

FGDO, =>D<4F<6=OE < <5F>4<G5E><E <4F5D<4?>6 ?> 6>?D>E4<, D47D454FO645<O< 

EFG45=F>< 4?O =4?<E4=<O 54>4?46DE>>= D45>FO;  

3)�>4F65D4<FL 4>FG4?L=>EFL < ?D4>F<G5E>GN 7=4G<<>EFL <75D4==>= 54>4-

?46D>< F5<O <EE?54>64=<O;  

4) �?D545?<FL 7444G< <EE?54>64=<O;  

5) %>5D4FL, E<EF5<4F<7<D>64FL < >5>5M<FL ?D4>F<G5E><= <4F5D<4? 4?O <E-

?>?L7>64=<O 6 6O?GE>=>= >64?<D<>4F<>==>= D45>F5 54>4?46D4;  

6) �D>4=4?<7<D>64FL ?>?GG5==O5 D57G?LF4FO < 6O6>4O E E>45D64F5?L=>= 

F>G>< 7D5=<O;  

7) �>47>F>6<FL < >D>D<<FL >FG5F ?> ?D>45?4==O< <EE?54>64=<O<, ?<5> 

?>47>F>6>4 F57<E>6 4>>?444 =4 =4GG=O= E5<<=4D, EFG45=G5E>GN >>=D5D5=F<N <?< 

EF4FL< 4?O >?G5?<>>64=<O. 

          

�D<F5D<< >F5=><: 
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�4GF5=> - EFG45=F ?D46<?L=> < 6 ?>?=>< >5N5<5 6O?>?=<? 7444=<5. 

�5 74GF5=> - EFG45=F =5 ?D46<?L=> < =5 6 ?>?=>< >5N5<5 6O?>?=<? 7444=<5; EFG-

45=F >5O74= 4>D45>F4FL 7444=<5  6 E>>F65FEF6<< E 74<5G4=<O<< ?D5?>4464F5?O. 

 

�>=FD>?L=O5 6>?D>EO: 

1.�>FG4?L=>EFL 6O5D4==>= F5<O  <EE?54>64=<O.  

2. &5?L < 7444G< <EE?54>64=<O.  

4. �5>5E>4<<>EFL <EE?54>64=<O < 57> ?D54?>?4745<O5 D57G?LF4FO. 

5. %?>E>5O < <5F>4O >5D45>F>< < 4=4?<74 <=D>D<4F<<, =5>5E>4<<>= 4?O 

<EE?54>64=<O =4GG=>= ?D>5?5<O ?> F5<5 <47<EF5DE>>7> <EE?54>64=<O.  

6. 'G5=O5, 74=<<4NM<5EO <EE?54G5<>= ?D>5?5<>= 6 >F5G5EF65==>= < 74DG-

556=>= ?<F5D4FGD5. 

7. ->>=><<G5E><5 ?>>474F5?<, E4D4>F5D<7GNM<5 =4?<G<5 ?D><76>4EF65=-

=OE D5EGDE>6 6 >D74=<74F<<.  

8. ->>=><<G5E><5 ?>>474F5?<, E4D4>F5D<7GNM<5 EF5?5=L <E?>?L7>64=<O 

?D><76>4EF65==OE D5EGDE>6 6 >D74=<74F<<.  

9. �F5=>4 ?D><76>4EF65==>-D<=4=E>6>7> E>EF>O=<O >D74=<74F<<. 

 

�D<F5D<< >F5=>< F5>GM5= 4FF5EF4F<< ?> D4745?4< ?D4>F<><: 

�4 «>F?<G=>» >F5=<645FEO >F65F, 5E?< >5GG4NM<=EO  E6>5>4=>, E 7?G5>><< 

7=4=<5< <4F5D<4?4,  ?D46<?L=>, ?>E?54>64F5?L=>  >F65G45F =4 6>?D>E. 

�F5=>4 «E>D>L>» 6OEF46?O5FEO, 5E?< >5GG4NM<=EO 4>EF4F>G=> G554<-

F5?L=>, E =5EGM5EF65==O<< >L<5>4<< 6 F5>D5F<G5E>>= ?>47>F>6>5 >F65G45F =4 

6>?D>E. 

�F5=>4 «G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO, 5E?< >5GG4NM<=EO  =54>EF4-

F>G=> G65D5==>, E EGM5EF65==O<< >L<5>4<< 6 F5>D5F<G5E>>= ?>47>F>6>5 >F65-

G45F =4 6>?D>E.  

�F5=>4 «=5G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO, 5E?< EFG45=F F>?L>> <<55F 

>G5=L E?45>5 ?D54EF46?5=<5 > ?D54<5F5 < =54>EF4F>G=>, <?< 6>>5M5 =5 >E6><? 

F5<G.  

10.2. �@><56GF>G=4O 4FF5EF4F<O ?> ?@4>F<>5 

�4G5F E >F5=>>= ?>?GG45F >5GG4NM<=EO, ?D>L54L<= ?D4>F<>G, 654L<= 

4=56=<> ?D4>F<><, <<5NM<= >FG5F E> 6E5<< >F<5F>4<< > 6O?>?=5=<<. 

�>=FD>?L=O5 6>?D>EO > 74G5FG E >F5=>>= ?> ?D4>F<>5: 

�D<<5D=O5 >>=FD>?L=O5 6>?D>EO ?> 74M<F5 >FG5F4: 

1. �4><5 F5>D5F<G5E><5 (M>>=><5FD<G5E><5) <>45?< <E?>?L7GNFEO 4?O 4=4-

?<74 < <=F5D?D5F4F<< ?>?GG5==OE D57G?LF4F>6? 

2. �4><5 G?D46?5=G5E><5 D5L5=<O ?D54?>65=O =4 >E=>65 D57G?LF4F>6 D4E-

G5F>6?  

3. �4>4O EF4F<EF<G5E>4O <=D>D<4F<O <E?>?L7>64?4EL 4?O ?D>6545=<O <E-

E?54>64=<O?  

4. �4><5 6<4O >F5G5EF65==OE < 74DG556=OE <EF>G=<>>6 <=D>D<4F<< <E-

?>?L7>64?<EL 4?O ?D>6545=<O <EE?54>64=<O?  
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5. �4><5 ?D>7D4<<=O5 (F5E=<G5E><5) ED54EF64 < <=D>D<4F<>==O5 F5E=>-

?>7<< <E?>?L7GNFEO 4?O D5L5=<O ?>EF46?5==OE 6 E>45 ?D4>F<>< 4=4?<F<G5E><E < 

<EE?54>64F5?LE><E 7444G?  

6. �4>>6> ?>?=>5 =4764=<5 >D74=<74F<<? 

7. �4>4O D>D<4 E>5EF65==>EF< >D74=<74F<<? 

8. � >4>>< 7>4G E>744=4 >D74=<74F<O? 

9. �4>>64 <EF>D<O D476<F<O >D74=<74F<<? 

10. � >4>>= >FD4E?< DG=>F<>=<DG5F >D74=<74F<O? 

11. �4>>6 ?D>D<?L 6O?GE>45<>= ?D>4G>F<< >D74=<74F<<? 

12. �4>>64 G<E?5==>EFL D45>F4NM<E >D74=<74F<<? 

13. �4>>64 6=5L=5M>>=><<G5E>4O 45OF5?L=>EFL >D74=<74F<<? 

14. �4>>64 75>7D4D<O E5OF4 ?D>4G>F<< >D74=<74F<<? 

15. �F> O6?O5FEO 45?>6O<< ?4DF=5D4<< >D74=<74F<<? 

16. �4>>64 EFDG>FGD4 G?D46?5=<O >D74=<74F<5= (EE5<4, >?<E4=<5 765=L56, 

?>?=><>G<O)? 

17. �4>>64 EFDG>FGD4 >F45?4 ?D>E>645=<O ?D4>F<><? 

18. �4>>6O >E=>6=O5 7444G< >F45?4 ?D>E>645=<O ?D4>F<><? 

19. �4>>6O DG=>F<< 4DG7<E >F45?>6 >D74=<74F<<?  

20. �4=F5 >D4F>GN E4D4>F5D<EF<>G >FD4E?<. 

21. �4=F5 >D4F>GN E4D4>F5D<EF<>G 6=5L=5= <4>D>ED54O >D74=<74F<<. 

22. �5D5G<E?<F5 E>6D5<5==O5 F5=45=F<< D476<F<O <<D>6>7> 47D>?D>4>-

6>?LEF65==>7> DO=>4, =4 >>F>D>< DG=>F<>=<DG5F >D74=<74F<O. 

23. �4>>6O >E>55==>EF< D57<>=4?L=>7> 47D>?D>4>6>?LEF65==>7> DO=>4, =4 

>>F>D>< DG=>F<>=<DG5F >D74=<74F<O? 

24. �4=F5 >D4F>GN E4D4>F5D<EF<>G <<>D>>>DG65=<O >D74=<74F<<: ?>EF46-

M<><, >>=>GD5=FO, ?>FD55<F5?<, F>D7>6O5 ?>ED54=<><, <=O5 45?>6O5 ?4DF=5DO < 

?>ED54=<>< >D74=<74F<< (D<D<O ?>  >D74=<74F<< F>64D>46<65=<O; D<D<O ?> >>4-

74=<N <4D>5F<=7>6OE, ND<4<G5E><E, D<=4=E>6OE, EFD4E>6OE < <=OE GE?G7); 

25. �4=F5 >D4F>GN E4D4>F5D<EF<>G 75>7D4D<< E5OF4 ?D>4G>F<<, DO=>< ?>-

FD55<F5?5=, E57<5=FO. 

26. �4=F5 >D4F>GN E4D4>F5D<EF<>G >><??5>E4 <4D>5F<=74 >D74=<74F<< (F>-

64D=>=, F5=>6>=, E5OF>6>=  ?>?<F<>< < ?>?<F<>< ?D>46<65=<O); 

27. �4>>6O >>=>GD5=F=O5 ?D5<<GM5EF64 >D74=<74F<< ?> >F=>L5=<N > >E-

=>6=O< >>=>GD5=F4< (>F5=>4 >>=>GD5=F>E?>E>5=>EF< >D74=<74F<<)? 

28. �4>>6O D57G?LF4FO 4=4?<74 <E?>?L7>64=<O FDG4>6OE D5EGDE>6 (4=4?<7 

>55E?5G5==>EF< >D74=<74F<< FDG4>6O<< D5EGDE4<<, 4=4?<7 MDD5>F<6=>EF< <E?>?L-

7>64=<O FDG4>6OE D5EGDE>6, >5>5M5=<5 D575D6>6 D>EF4 ?D><76>4<F5?L=>EF< FDG44, 

4=4?<7 ED54EF6 =4 >??4FG FDG44, 6>?NG45<OE 6 E555EF><<>EFL ?D>4G>F<<, 4=4?<7 

D>=44 74D45>F=>= ??4FO, E>>F=>L5=<5 4<=4<<>< D>EF4 ?D><76>4<F5?L=>EF< FDG44 

< 74D45>F=>= ??4FO)? 

29. �4>>6O D57G?LF4FO 4=4?<74 E555EF><<>EF< ?D>4G>F<<: 4=4?<7 >5M5= 

EG<<O  74FD4F =4 ?D><76>4EF6> F>64D=>= ?D>4G>F<< (D45>F, GE?G7); 4=4?<7 74FD4F 

=4  DG5?L F>64D=>= ?D>4G>F<<  (D45>F, GE?G7); 4=4?<7 EFDG>FGDO < 4<=4<<>< E555-

EF><<>EF< ?D>4G>F<< (D45>F, GE?G7); 4=4?<7 74FD4F 6 D47D575 EF4F5= >4?L>G?OF<<; 
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4=4?<7 ?DO<OE <4F5D<4?L=OE < FDG4>6OE 74FD4F; 4=4?<7 >>E65==OE 74FD4F; D575D6O 

E=<65=<O E555EF><<>EF< ?D>4G>F<<? 

30. �4>>6O D57G?LF4FO 4=4?<74 ?D<5O?< < D5=F455?L=>EF< (4=4?<7 E>EF464 

< 4<=4<<>< 54?4=E>6>= ?D<5O?<; 4=4?<7 D<=4=E>6OE D57G?LF4F>6 >F >5OG=OE 6<-

4>6 45OF5?L=>EF<; 4=4?<7 GD>6=O ED54=5D54?<74F<>==OE F5=; 4=4?<7 D<=4=E>6OE 

D57G?LF4F>6 >F ?D>G<E 6<4>6 45OF5?L=>EF<; 4=4?<7 D5=F455?L=>EF< ?D>446, ?D>4G>-

F<<; 4=4?<7 D4E?D545?5=<O < <E?>?L7>64=<O ?D<5O?< ?D54?D<OF<O; 4=4?<7 ?D<-

5O?< < D5=F455?L=>EF< E <E?>?L7>64=<5< <564G=4D>4=OE EF4=44DF>6)? 

31. �4>>6O D57G?LF4FO 4=4?<74 EGM5EF6GNM5= E<EF5<O >44D>6>7> <5=546-

<5=F4 6 >D74=<74F<< (>44D>64O ?>?<F<>4; ??4=<D>64=<5 ?>FD55=>EF< 6 ?5DE>=4?5; 

=45>D, >F5>D < =4=< ?5DE>=4?4; <>F<64F<O FDG44; 444?F4F<O ?5DE>=4?4; ?>6OL5=<5 

>64?<D<>4F<<; D45>F4 E D575D6>< =4 6O46<65=<5; 4FF5EF4F<O ?5DE>=4?4; EF<?L < 

<5F>4O G?D46?5=<O; 4=4?<7 >55E?5G5==>EF< >D74=<74F<< < 55 EFDG>FGD=OE ?>4D47-

45?5=<= FDG4>6O<< D5EGDE4<< ?> >>?<G5EF65==O< < >4G5EF65==O< ?>>474F5?O<)? 

32. �4>>6O F5E=>?>7<< 6O?GE>4 ?D>4G>F<< >D74=<74F<<? 

33. �4>>6O D57G?LF4FO >F5=>< >>=>GD5=F>E?>E>5=>EF< ?D>4G>F<< >D74=<74-

F<<? 

34. �4>>6O D57G?LF4FO 4=4?<74 ?D><76>4EF64 < D54?<74F<< ?D>4G>F<<: 4=4?<7 

>5N5<4, 4EE>DF<<5=F4, EFDG>FGDO < >4G5EF64 ?D>4G>F<<, 4=4?<7 D<F<<G=>-

EF< 6O?GE>4 ?D>4G>F<<, 4=4?<7 6O?>?=5=<O 4>7>6>D=OE >5O74F5?LEF6 < D5-

4?<74F<< ?D>4G>F<<, 6OO6?5=<5 D575D6>6 D>EF4 >5N5<4 ?D>446 < D54?<74-

F<< ?D>4G>F<< (D45>F, GE?G7)? 

35. �4>>6O D57G?LF4FO 4=4?<74 <E?>?L7>64=<O >E=>6=OE ?D><76>4EF65==OE 

D>=4>6 (4=4?<7 >5N5<4, E>EF464, EFDG>FGDO < 4<=4<<>< ��$, 4=4?<7 F5E=<-

G5E>>7> E>EF>O=<O < >5=>6?5=<O >E=>6=OE D>=4>6, 4=4?<7 ?>>474F5?5= MD-

D5>F<6=>EF< <E?>?L7>64=<O ��$, D575D6O G65?<G5=<O 6O?GE>4 ?D>4G>F<< 

74 EG5F 5>?55 MDD5>F<6=>7> <E?>?L7>64=<O >E=>6=OE ED54EF6)? 

36. �4>>6O D57G?LF4FO 4=4?<74 <4F5D<4?L=> F5E=<G5E>>7> E=4565=<O < <E?>?L-

7>64=<O <4F5D<4?L=OE D5EGDE>6 (4=4?<7 6O?>?=5=<O ??4=4 <4F5D<4?L=> 

F5E=<G5E>>7> E=4565=<O >55E?5G5==>EF< <4F5D<4?L=O<< D5EGDE4<<, 

>F5=>4 ?>FD55=>EF< 6 <4F5D<4?L=OE D5EGDE4E, >F5=>4 6?<O=<O <4F5D<4?L-

=OE D5EGDE>6 =4 >5N5< ?D><76>4EF64 ?D>4G>F<<, 4=4?<7 MDD5>F<6=>EF< <E-

?>?L7>64=<O <4F5D<4?L=OE D5EGDE>6, D575D6O ?>6OL5=<O MDD5>F<6=>EF< 

<E?>?L7>64=<O <4F5D<4?L=OE D5EGDE>6)? 

37. �4>>6O D57G?LF4FO 4=4?<74 <=D>D<4F<>==>= E<EF5<O G?D46?5=<O >D74=<-

74F<5= (<=D>D<4F<>==O5 ?>F>><; ?D>7D4<<=O5 ?D>4G>FO; 4>>G<5=F4F<>=-

=>5 >55E?5G5=<5 G?D46?5=G5E>>= 45OF5?L=>EF<)? 

38. �4>>= 6>?44 6=>E<F >D74=<74F<O 6 ?D>4>6>?LEF65==GN 557>?4E=>EFL 

EFD4=O? 

39. �4>>64 EFDG>FGD4 >F45?4 ?D>E>645=<O ?D4>F<><? 

40. �4>>6O >E=>6=O5 7444G< >F45?4 ?D>E>645=<O ?D4>F<><? 

 

�D<F5D<< >F5=<64=<O D57G?LF4F>6 ?D><76>4EF65==>= ?D4>F<>< 6 F45?<F5 6. 

&45?<F4 6 

�D<F5D<< >F5=<64=<O D57G?LF4F>6 >5GG5=<O 
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�D<F5D<O<< >F5=>< D57G?LF4F>6 ?D>E>645=<O >5GG4NM<<<EO ?D4>F<>< 

O6?ONFEO ED>D<<D>64==>EFL >><?>=5=F>6 >><?5F5=F<= ?D54GE<>FD5==OE ?D>-

7D4<<>= ?D4>F<><, F.5. ?>?GG5==OE F5>D5F<G5E><E 7=4=<=, ?D4>F<G5E><E G<5=<= 

< =46O>>6 (?D54EF46?5=<5 > ?>EFD>5=<< EF4=44DF=OE F5>D5F<G5E><E < M>>=><5F-

D<G5E><E <>45?5=, 4=4?<75 < <=F5D?D5F4F<< ?>?GG5==OE D57G?LF4F>6; 4=4?<75 < 

<=F5D?D5F4F<< D<=4=E>6>=, 5GE74?F5DE>>= < <=>= <=D>D<4F<< < <E?>?L7>64=<< 

?>?GG5==OE E6545=<= 4?O ?D<=OF<O G?D46?5=G5E><E D5L5=<=; 6OD454FO64NF 

=46O>< ?>47>F>6>< 4=4?<F<G5E>>7> >FG5F4, <E?>?L7GO >F5G5EF65==O5 < 74DG556-

=O5 <EF>G=<>< <=D>D<4F<<; GG4FEO <E?>?L7>64FL 4?O D5L5=<O 4=4?<F<G5E><E < 

<EE?54>64F5?LE><E 7444G E>6D5<5==O5 F5E=<G5E><5 ED54EF64 < <=D>D<4F<>==O5 

F5E=>?>7<<). 

 

�4G5F E >F5=>>=  'D>65=L ?>47>F>6>< 

�OE>><= GD>65=L  

«5» 

(>F?<G=>) 

�D54GE<>FD5==O5 ?D>7D4<<>= ?D4>F<>< D57G?LF4FO >5GG5-

=<O 6 D4<>4E ED>D<<D>64==>EF< >><?>=5=F>6 >><?5F5=F<= 

4>EF<7=GFO. �5GG4NM<=EO 45<>=EFD<DG5F 6OE>><= GD>-

65=L ?>47>F>6><, F6>DG5E><= ?>E>4 > D5L5=<N =5EF4=44DF-

=OE E<FG4F<= 6> 6D5<O 6O?>?=5=<O <=4<6<4G4?L=>7> 7444-

=<O. �5GG4NM<=EO ?D54EF46<? ?>4D>5=O= ?<EL<5==O= >F-

G5F ?> ?D4>F<>5, >>F>DO= 6>?NG45F 6 E55O >FG5F, ?D575=F4-
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